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Subject : GE_Q01-Q10_PRT24FEBSH1
Question ID:- 1

ADORATION

Choose the word similar in meaning to the one given above :
(1) Liking

(2) Worship

(3) Admiration
(4)

4) Respect

Options:-

«1, Option ID :- 1,
« 2, Option ID :- 2,
« 3, Option ID :- 3,

» 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

Question ID:- 2

VIGILANT
Choose the word opposite in meaning to the one given above :
(1) Valuable

(2) Careless

(3) Slow

(4) Useless
Options:-

»1, Option ID :- 5,
» 2, Option ID :- 6,
« 3, Option ID :- 7,

» 4, Option ID :- 8,
Answer Given:- 2, Option ID : -6

Question ID:- 3

Identify the part of speech of the underlined word in the following sentence.

Why don’t you celebrate your success ?

(1) Adverb

(2) Pronoun

(3) Verb

(4) Adjective
Options:-
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«1, Option ID :- 9,
« 2, Option ID :- 10,
» 3, Option ID :- 11,

» 4, Option ID :- 12,
Answer Given:- 4, Option ID : -12

Question ID:- 4

The shot killed the man-eater.
Choose the option in which VOICE in the above sentence has been correctly changed into Passive.,
(1) The man-eater has been shot killed.

(2) The man-eater was killed by the shot.
(3) The man-eater has been killed.
(4) The man-eater has been killed by the shot.

Options:-

«1, Option ID :- 13,
« 2, Option ID :- 14,
« 3, Option ID :- 15,

» 4, Option ID :- 16,
Answer Given:- 2, Option ID : -14

Question ID:- 5

Lalita said, “I can cook a quick meal.”

Choose the option in which the speech in the above sentence has been correctly changed into
Indirect Speech.

(1) Lalita declared that she can cook a quick meal

(2) Lalita claimed that she could cook a quick meal.

(3) Laita said that I can cook a quick meal.

(4) Lalita told that she could cook a quick meal.
Options:-

«1, OptionID :- 17,
« 2, Option ID :- 18,
»« 3, Option ID :- 19,

» 4, Option ID :- 20,
Answer Given:- 4, Option ID : -20

Question ID:- 6
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Choose the option in which the following jumbled words/phrases have been rearranged to form a
meaningful grammatically correct sentence.

(A) given

(B) was

(C) the plan

(D) support

(E) wholehearted

(L) (B) (©) (A) (E) (D)
(2) (O (B) (A) (E) (D)
(3) (D) (E) (A) (B) (©)
(4 (A) (B) © (E) (D)
Options:-

»1, Option ID :- 21,
« 2, Option ID :- 22,
»« 3, Option ID :- 23,

« 4, Option ID :- 24,
Answer Given:- 2, Option ID : -22

Question ID:- 7

Identify the part of the following sentence which has an error.

Ram did notlike you going there :
(a) (b) @

(1) (a)
(2) (b
(3) (©
4 (d)
Options:-

«1, Option ID :- 25,
»« 2, Option ID :- 26,
» 3, Option ID :- 27,

« 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8

Fill in the blank in the following sentence by choosing the correct option out of the given ones.

I could read the lines that you don’t like this job.
(1) into
(2) through
(3) by
(4) between
Options:-

«1, Option ID :- 29,
» 2, Option ID :- 30,
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=« 3, Option ID :- 31,

« 4, Option ID :- 32,
Answer Given:- 2, Option ID : -30

Question ID:- 9

Fill in the blank in the following sentence by choosing the correct option out of the given ones.

Kalpana is indebted me.
(1) in
(2) into
(3) to
(4) for
Options:-

«1, Option ID :- 33,
» 2, Option ID :- 34,
» 3, Option ID :- 35,

» 4, Option ID :- 36,
Answer Given:- 3, Option ID : -35

Question ID:- 10

Fill in the blank in the following sentence by choosing the correct option out of the given ones.

Ramlal was provided food for one month.
(1) for

(2) with

(3) on

(4) onto

Options:-

«1, Option ID :- 37,
»« 2, Option ID :- 38,
« 3, Option ID :- 39,

« 4, Option ID :- 40,
Answer Given:- 1, Option ID : -37

Subject : GH_Q11-Q20_PRT24FEBSH1

Question ID:- 11

= fau v ey i uget waifie st famea @ e it -
TR o o wifsw fafea &1 = wifsd =1 9y =0 oo 1 e 1 e & o9 1 v 6 e e
TIEAT 1 8T §-Th S AEIe 1 A AT SR gEd SR wegfE w fasm e

Y H AL E - HAH -

(1) iferd =h1 forehr shel
(2) e &l STEAT

(3) wifeRaTd T

(4) wifer =Rl foum
Options:-
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«1, Option ID :- 41,
« 2, Option ID :- 42,
» 3, Option ID :- 43,

» 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12

=frer e T Terer i gt wEifeh St faehed Wit wEe ity -
TR o o wifsw fafea &1 = wifsd =1 9y =0 oo 1 e 1 e & o9 1 v 6 e e
TIEAT 1 8T §-Th S AEIe 1 A AT SR gEd SR wegfE w fasm e

TIEFT 1 A -

(1) EET-99 T aeT

(2) =il Ufd T
(3) =l 1 THA T
(4) TTIS] ] HHIE FHIAT
Options:-

«1, Option ID :- 45,
« 2, Option ID :- 46,
» 3, Option ID :- 47,

»« 4, Option ID :- 48,
Answer Given:- 1, Option ID : -45

Question ID:- 13

et fau o ey Wi ugeRt waifies Stud faeed st wEe it -

AR iR 3t wifsm Fifed & | 39 wifed o1 s ot I | e 6 33 B A9 W vl S )
HIET o1 T8F 8T SR al SFETIE] o1 IR FE SR I AR Heghadl F1 o |

‘e’ wes & e € -
1) fod= = a8
2) fogm & muad

Options:-

«1, Option ID :- 49,
» 2, Option ID :- 50,
» 3, Option ID :- 51,

« 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14
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=frer e T Terer i gt wEifeh St faehed Wit wEe ity -
TR o o wifsw fafea &1 = wifsd =1 9y =0 oo 1 e 1 e & o9 1 v 6 e e
TIEAT 1 8T §-Th S AEIe 1 A AT SR gEd SR wegfE w fasm e

yifer =1 ATy -

(1) weade

(2) FEAE

(3) FIETIE B

(4) oAEYE ®
Options:-

»1, Option ID :- 53,
» 2, Option ID :- 54,
« 3, Option ID :- 55,

« 4, Option ID :- 56,
Answer Given:- 2, Option ID : -54

Question ID:- 15

= fau v ey i uget waifie st famea @ e it -
TR iR o1 wifs fafea &1 = wifsa =1 <y =0 oem 1 e & e & 99§ v 6 s e
TIEAT 1 8T §-Th S AEIe 1 A AT SR gEd SR wegfE w fasm e

“Trfea' @ aread € -
(1) AR
(2) TowEA
(3) TWET
(4) TeEl B
Options:-

«1, Option ID :- 57,
» 2, Option ID :- 58,
» 3, Option ID :- 59,

« 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

(1) &Y
(2) fow=nr
(3) STYAM
(4) TFREl
Options:-

«1, Option ID :- 61,
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= 2, Option ID :- 62,
« 3, Option ID :- 63,

» 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17
TTH-TGY o1 ST TH & -
(1) 3TT™-3TH
(2) forga-fersret
(3) BifcTshT-greit
(4) Hra-foen
Options:-
«1, Option ID :- 65,
»« 2, Option ID :- 66,

« 3, Option ID :- 67,

« 4, Option ID :- 68,
Answer Given:- 1, Option ID : -65

Question ID:- 18

T+

Options:-

«1, Option ID :- 69,
« 2, Option ID :- 70,
« 3, Option ID :- 71,

« 4, Option ID :- 72,
Answer Given:- 2, Option ID : -70

Question ID:- 19

“HiTe J TreA & T & | AR & Yo of9 H ek § -

(1) el
(2) HYEH ®HH
(3) HH HH
(4) STUEHE HRE
Options:-

«1, Option ID :- 73,
« 2, Option ID :- 74,
»« 3, Option ID :- 75,

» 4, Option ID :- 76,
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Answer Given:- 2, Option ID : -74

Question ID:- 20

‘i’ =1 qEtEaTE e TR 8

Options:-

«1, Option ID :- 77,
» 2, Option ID :- 78,
» 3, Option ID :- 79,

» 4, Option ID :- 80,
Answer Given:- 4, Option ID : -80

Subject : GA_Q21-Q30_PRT24FEBSH1

Question ID:- 21

Which of the following protections is guaranteed by the Indian Constitution as part of the
Fundamental Rights ?

(1) Protection from being asked to be a witmess in a criminal investigation.

(2) Protection from prosecution in case of a physical disability.
(3) Protection from trial in case of an anticipatory bail.
(4) Protection from punishment for the same offence twice.

T o HiaHH 57 Ja Afsrl % w9 H fefafed § 8 e g st md g2
(1) U YT S H TEmE S¢S & oy % S | wem

(2) ORI STEHE B T HHEHT Fel ST HET

(3) ST ST % A § geeHl Sell S § e

(4) THE Uy & fow S IR e fou S 9 Hem

Options:-

«1, Option ID :- 81,
» 2, Option ID :- 82,
« 3, Option ID :- 83,

» 4, Option ID :- 84,
Answer Given:- 4, Option ID : -84

Question ID:- 22

Which was the first port to be developed after Independence to compensate for the loss of the
Karachi port to Pakistan after Independence ?

(1) Jawaharlal Nehru port in Mumbai
(2) Marmagao port in Goa

(3) Kandla port in Kuchchh

(4) Haldia port in Haldia
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AT o G I 9GS &1 e § =l ST 9§ g8 8 o1 &fiayfd = fau fasfad g s amen ggen
ST I | 212

(1) Yqrag Teom SRt 186 Sgie

(2) i feerd AEArmEN deuTe

(3) = feud siga deume

(4) wfean g efegan deume

Options:-

«1, Option ID :- 85,
« 2, Option ID :- 86,
» 3, Option ID :- 87,

» 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87

Question ID:- 23

Bangar and Khadar are types of which kind of soil ?

(1) Alluvial
(2) Black
(3) Yellow
(4) Arid
IR iR T fmy yeR & faedt €2
(1) g
(2) T
(3) el
(4 =
Options:-

»1, Option ID :- 89,
« 2, Option ID :- 90,
« 3, Option ID :- 91,

« 4, Option ID :- 92,
Answer Given:- 4, Option ID : -92

Question ID:- 24
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Which among the following are Bretton Woods Institutions ?
(a) International Monetary Fund

(b) World Trade Organisation

(¢) International Labour Organisation

(d) International Bank for Reconstruction and Development

Choose the correct answer from the codes below :
(1) (a) and (b)

(2) (2) and (d)
(3) (b) and (c)
(4) (0) and (d)
Freafafad § | & e g0 TRIeEH € 2

(a) RIS qe1 #iY

(b) fowa =R Heq

() <=L 9H HeA

(d) Al gEfm o fosm S
=i feu g e H F W 3T A =TT Hio |
(1) (a) 3 (b)

Options:-

«1, Option ID :- 93,
» 2, Option ID :- 94,
« 3, Option ID :- 95,

« 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 25

Which among the following options follows the correct chronology in which the events took place
in Modern Indian History, starting from the event that occurred first to the last ?

(1) Home Rule Movement — Formation of the Indian National Congress — Formation of the
Muslim League — Non- Cooperation movement

(2) Formation of the Indian National Congress — Formation of the Muslim League — Home
Rule Movement — Non- Cooperation Movement

(3) Formation of Muslim League — Civil Disobedience Movement — Non- Cooperation
Movement — Dandi March

(4) Non- Cooperation Movement — Home Rule Movement — Dandi March — Quit India
Movement
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Y, G HIewEH ST § 2

1) T FA SR — WA WL FE F M7 — T ST H TSH — STHRAN g
(2) R WL HIH T TS — GEAH AT T TS — B Tl STae — STHeanT e
) HEAH R R TS — GiaTd a1 SikeH — THEEN stiaer — el 7rE

) TN ARITH — W T HARITH — Tel °b — YRA Sral Slicier

Options:-

«1, Option ID :- 97,
» 2, Option ID :- 98,
« 3, Option ID :- 99,

« 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Frefafed § 8 %9 @ fosrey snyftes TRd & sfiem™ o g2 7eTsil @1 Teed | o 9% § g8 9 o fede

Question ID:- 26

2022 held in Goa ?

(1) Daniela Marin Navarro
(2) Maribel Guardia

(3) Thelma Darkings

(4) RubyO. Fee

e H At 539 sqieE yRdd fhern weiedd, 2022 § gadwe A3 1 TR fhee siiar?
(1) =fen wifE e

(2) wiiere ARfen

(3) <or eRfFEy

(4) eI SH
Options:-

«1, Option ID :- 101,
» 2, Option ID :- 102,
»« 3, Option ID :- 103,

« 4, Option ID :- 104,
Answer Given:- 4, Option ID : -104

Who won the award for the best actor (Female) in 53rd International Film Festival of India (IFFI),

Question ID:- 27

Which of the following is not celebrated on 26th November ?
(1) United Nations Organisation (UNO) Founding Day

) Constitution Day of India

) National Milk Day in India

) World Olive Tree Day across the World

92 N

(
(
(

e
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TTH W 1 26 T I Tel HAHT Sl § ?

(1) Eg U2 €9 (FUA.3) T fead

(2) a1 HfaguE feem

(3) WA H Uy g faaw

(4) favaww ¥ fave sifem 2 feag

Options:-

»1, Option ID :- 105,
» 2, Option ID :- 106,
» 3, Option ID :- 107,

» 4, Option ID :- 108,
Answer Given:- 1, Option ID : -105

Question ID:- 28

Who among the following was awarded the Bal Sahitya Puraskar 2022 in Santali language ?
(1) Dilip Kizku

(2) Gurai Kizku
(3) Bijay Murmu
(4) Ganesh Marandi

Heqred! e H 2022 6 =t Hifeed qOERR foRE 9em fm e ?

(1) feefy frep
(2) TUE fRE

(3) fosim g

(4) IO TS

Options:-

«1, Option ID :- 109,
» 2, Option ID :- 110,
» 3, Option ID :- 111,

« 4, Option ID :- 112,
Answer Given:- 3, Option ID : -111

Question ID:- 29

Which State bagged the highest number of medals in all the three categories (Gold, Silver and
Bronze) in the 36th National Games held in Gujarat in September- October 2022 ?

(1) Haryana

(2) Maharashtra
(3) Karnataka
(4) Tamil Nadu
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TS o foerer-sTaer, 2022 H S 36 9 T Gel H fHE T A bl gfe (@i, S 3R wie)
T waifees yge wre fhu ?

3/7/23, 4:29 AM

(1) &=
(2) HeR
(3) wFARH
(4) dqfHETg
Options:-

«1, Option ID :- 113,
« 2, Option ID :- 114,
« 3, Option ID :- 115,

« 4, Option ID :- 116,
Answer Given:- 1, Option ID : -113

Question ID:- 30

A simple pendulum takes 60 seconds to complete 30 oscillations. What is the time period of the
pendulum ?

(1) 1800 seconds

(2) 2 seconds
(3) 0.5 seconds
(4) 30 seconds

Tk WU @ik (Yg@H) 30 S &l 90 & ° 60 Hfhe oa1 81 dias o1 999 73y &0 € ?

(1) 1800 fthe

(2) 2 Hfse

(3) 0.5 #fFe

(4) 30 Hfhz
Options:-

«1, Option ID :- 117,
» 2, Option ID :- 118,
»« 3, Option ID :- 119,

« 4, Option ID :- 120,
Answer Given:- 2, Option ID : -118

Subject : RA _Q31-Q35_PRT24FEBSH1
Question ID:- 31

How many odd numbers are there in the following number sequence each of which is immediately
preceded by odd number and is immediately succeeded by even number ?

3127336532431344343

(1) 2
2) 3
(3 5
4) 4
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Frafafag e w9 | v e faum ded € 590 8 v & Uehed vee favm den & iR ts g9 9
T g9 GEA 81 ?
3127336532431344343

(1) 2
(2) 3
(3) 5
(4) 4
Options:-

«1, Option ID :- 121,
» 2, Option ID :- 122,
» 3, Option ID :- 123,

» 4, Option ID :- 124,
Answer Given:- 3, Option ID : -123

Question ID:- 32

Maya walked 30 metre towards North. She then turned to her left and walked 15 metre. She then
turned to her left and walked 30 metre. She then turned to her right and walked 25 metre. How
far is she from the starting point ?

(1) 70 metre
(2) 80 metre
(3) 90 metre
(4) 40 metre

T SR F SR 30 FHrex et &1 R g 9l @R gt € @R 15 e et © 1 R 9w ani o gmes
30 HieX et €1 R 98 1ot gt ofR gt § ofR 25 WX = § | 98 SRfva forg & foret gl W@ ?

(1) 70 HieX
(2) 80 HieX
(3) 90 HieX
(4) 40 e
Options:-

»1, Option ID :- 125,
» 2, Option ID :- 126,
» 3, Option ID :- 127,

» 4, Option ID :- 128,
Answer Given:- 4, Option ID : -128

Question ID:- 33
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Eight friends ‘A", ‘B, ‘C’, ‘D, ‘E’, 'F, ‘G’ and ‘H’ are sitting around a circular table at an equal
distance, facing the centre.

*A’ is neighbour of ‘B’. ‘D’ is neighbour of “E’ and is sitting on the immediate right of ‘C". ‘G" is
not neighbour of ‘B" and ‘F'. “A’ is third to the left of ‘F". There is exactly one person between ‘F’
and ‘'G.

Who is sitting opposite to “H" ?

(1) E
(2 D
3) C
4) B

ae fag ‘A, ‘B, 'C, D, ‘B, 'F, ‘G’ iR “H’ U JIR U9 % 91/ 3R 39% A% i IR 4g #h 99
RS TN

‘A’,B 1 TSR §1 ‘D, “E’ % YSIHl § &R ‘C’ % UheH SR IR d_T1 81 ‘G, B Sl “F %1 TSR e B
‘A, F % 9Ell 3R A W WA ® F 3R G % O g U SAfa S B

H % HHE BT "3 8 ?

(1) E
(2) D
(3) C
(4) B
Options:-

«1, Option ID :- 129,
« 2, Option ID :- 130,
« 3, Option ID :- 131,

» 4, Option ID :- 132,
Answer Given:- 1, Option ID : -129

Question ID:- 34

Given below is a question followed by two statements numbered (I) and (II) each containing some
information. Decide which of the statement(s) is/are sufficient to answer the question.

Q) = Among the five friends P, ‘Q’, ‘R’, “S" and “T", who is the heaviest ?
(I “T” is heavier than only ‘P".
(I ‘R’ is heavier than ‘P’ and “T" and is less heavier than “Q’ who is not the heaviest.

(1) The statement (I) alone is sufficient to answer the question while statement (II) alone is not
sufficient.

(2) The statement (II) alone is sufficient to answer the question while statement (I) alone is not
sufficient.

(3) Both statements (I) and (II) together are necessary to answer the question.
(4) Both statements (I) and (II) together are not sufficient to answer the question.
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a1mg fofa Sifee for & qUd w2 999 1 W 29 & o gata g/8 )

g gig s P, QL ‘R, ‘S AR T B 9§ i a9 ged YR § 7

wmAF () ‘T Fad ‘P Y I

HAT () ‘R,'P AR‘T E O &R 'Q' | F9 v/l ¥ S gag aifersr it 72 21

(1) RS (I) STHST W 1 S < o oTC qaid & Sefeh sl (11) Sohel AT el &
(2) R (I1) SThet U9 %1 I &7 & [0 T § Safeh e (1) $Tohel T 78l &
(3) A (I) 3R A (1) I T T9 1 3T o1 & fow o1ea9qa &
(4) A (I) 3 wAT (1) THT Foerst wod o1 3 24 & fore vaia 78 &

Options:-

«1, Option ID :- 133,
» 2, Option ID :- 134,
« 3, Option ID :- 135,

» 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

= wek e e e ® formes =g <1 wme (1) i wRem (1) fou e € fomd uoe | o St € E )

Question ID:- 35

disciplined and rectangle represents honest.

16 |
13 J

—

How many discip]jned boys are there who are neither athletes nor honest ?
(1) 9

2) 12
(3) 15
4) 16
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= feu T e | ot wueiEl o, g9 @kl @, B erEnfadi &1 qen e SaeR o giaftie e
21

16 |
8 | 4 =

—

Y fora erenfad @igeh € Sl 7 o tgeie € #i 7 & $HeER 2

(1) 9
(2) 12
(3) 15
(4) 16
Options:-

«1, Option ID :- 137,
« 2, Option ID :- 138,
» 3, Option ID :- 139,

» 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PRT24FEBSH1

Question ID:- 36

is the standard input and output device which both receives information and displays
it as well. It eliminates the use of a keyboard or a mouse.

(1) Trackball

(2) Touchpad
(3) Touch screen
(4) Track screen

T HHE 3TYE IR 2T3eqe fearsy & S =1 urd &l @ 3 3% wefii of = 81 %'
ot shi-ai1S =11 WISE o FART T TE H St S

(1) <Hara
(2) =dUS
(3) = @A
(4) < BhIA
Options:-

«1, Option ID :- 141,
» 2, Option ID :- 142,
« 3, Option ID :- 143,
» 4, Option ID :- 144,

https://kvsexam24feb23s 1.cbtexam.in/Candidate/ResponseSheet.aspx?UrIval=fa871369-297 1-460b-9691-98a128654623&R ol Ino=220425212230204&Pgld...  17/89
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Answer Given:- 3, Option ID : -143

Question ID:- 37

Which of the following software is best suited to store, organize and analyze mathematical
(statistical) data ?

(1) Ms-Excel
(2) Ms-Word
(3) Ms-PowerPoint
(4) Ms-Edge

ot Tt (Wifeshia) ST 1 W) &, SHaied ST 991 39! favefoo1 T & fou weiftes sugs
e ShiF |18 ?

(1) TH TH-UF

(2) THUH-9E

(3) TH TH-YEEEE

(4) UHTHTA
Options:-

«1, Option ID :- 145,
« 2, Option ID :- 146,
« 3, Option ID :- 147,

» 4, Option ID :- 148,
Answer Given:- 1, Option ID : -145

Question ID:- 38

When I connect my mobile phone with my desktop using a data cable to transfer images, what
type of network is formed ?

(1) LAN
(2) MAN
(3) PAN
(4 WAN

o g8 R F % ToU U ST Feae % weAn | A9 Gierse B # o79 Skery & Siredr § ol
foFY YR &1 A2ae o9d1 § 2

(1) TATTT (LAN)

(2) THTT (MAN)

(3) T (PAN)

(4) T UTA (WAN)

Options:-

«1, Option ID :- 149,
» 2, Option ID :- 150,
»« 3, Option ID :- 151,

» 4, Option ID :- 152,
https://kvsexam24feb23s 1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-297 1-460b- 9691-98a128654623&Rollno=220425212230204&Pg Id. ..
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Answer Given:- 1, Option ID : -149

Question ID:- 39

Files stored on the can be accessed anytime from anywhere.
(1) Local storage
(2) Cloud storage
(3) Hard disk
(4)

4 Network storage

T R &I T e b1 wel 9 off @t off wig foren =1 9eman 21

(1) Rel RIS
(2) =ATS WRSA
(3) @S fe=n
(4) H2E® BIE
Options:-

»1, Option ID :- 153,
» 2, Option ID :- 154,
« 3, Option ID :- 155,

» 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 40

Identify the cyber-crime, penalised by the IT Act 2000 from the following :
(1) Data Theft

(2) Jewellery Theft
(3) Terrorism
(4)

4) Impersonation

3 3 TEE-2000 F T8d fAefafEs ¥ 9 5 gEe-31y & 989 UF STy JE1 T3 © 2

(1) =1 & =9t
(2) o =
(3) SATdharg

(4) faego
Options:-

«1, Option ID :- 157,
« 2, Option ID :- 158,
» 3, Option ID :- 159,

» 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q55_PRT24FEBSH1

Question ID:- 41

https://kvsexam24feb23s 1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-297 1-460b- 9691-98a128654623&Rollno=220425212230204&Pg Id. ..
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What do you understand the term ‘Growth’ in child’s development ?
(1) Itis reversible physical change.

(2) Itis irreversible physical change.
(3) It is irreversible emotional change.
(4)

4 It is reversible social change.

aTerer & T ¥ ‘ofg’ ug § 2 @ wHer § 2
(1) &8 TS Hehnviy i giadd g1

(2) A TgERTUE SRR qiEdd 21
(3) UE SSHHUIY HorTeHs qiEn gl
(4) T RTINS FreTses Tie € |
Options:-

»1, Option ID :- 161,
» 2, Option ID :- 162,
» 3, Option ID :- 163,

» 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42

Which one of the following feature falls in the category of ‘Social domain” of child’s
development ?

(1) Cycling with friend

(2) Sharing of toys with neighbourhood child
(3) Crying with peers

(4) Shouting on friends

fre=ifera & 9 - fadraa st % T & gnfsrs &' 5 Joft | e € 2
(1) T3 % = wEea e

(2) TSR STern & w1 fEeln & wEn
(3) THGREIE STEThl o 1 Al
(4) il o Feeetmn

Options:-

«1, Option ID :- 165,
« 2, Option ID :- 166,
» 3, Option ID :- 167,

» 4, Option ID :- 168,
Answer Given:- 1, Option ID : -165

Question ID:- 43

https://kvsexam24feb23s 1.cbtexam.in/Candidate/ResponseSheet.aspx?UrIval=fa871369-297 1-460b-9691-98a128654623&R ol Ino=220425212230204&Pg|d... 20/89
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‘Telling truth” by child comes under :

(1) Physical domain
(2) Cognitive domain
(3) Moral domain

(4) Social domain

T g1 T g9 A feiferd § 8 foreet 9ol 3 e 2 2

(1) e &=

(2) HHAHARHSE &5

(3) HAfde &=

(4) GrIfeTR &3
Options:-

«1, Option ID :- 169,
»« 2, Option ID :- 170,
« 3, Option ID :- 171,

« 4, Option ID :- 172,
Answer Given:- 3, Option ID : -171

Question ID:- 44

Identify which one of the following is example for ‘Socio-emotional learning’ in child :
(1) Discipline

(2) Establishing relationship
(3) Punctuality
(4) Positive attitude

Freifera & & STt o IS -HareRs AT ' %k 38 i faeAifea S

(1)  ST=mEA

(2) HeY iU

(3) wHATTSS

(4) HhWeHS Afefd
Options:-

«1, Option ID :- 173,
» 2, Option ID :- 174,
» 3, Option ID :- 175,

« 4, Option ID :- 176,
Answer Given:- 2, Option ID : -174

Question ID:- 45

https://kvsexam24feb23s 1.cbtexam.in/Candidate/ResponseSheet.aspx?UrIval=fa871369-297 1-460b-9691-98a128654623&R ol Ino=220425212230204&Pgd... 21/89
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Normally the “Adolescence” falls under which age :
(1) 6-12 years

(2) 13- 21 years
(3) 18-25 years
(4) 21 years and above

g fergirereen’ feiferg & & forg aa-aif & siarid At =t & 2

(1) 6H 1294

(2) 13| 2139

(3) 18 | 25

(4) 2199 3 398 3N

Options:-

1, Option ID :- 177,
» 2, Option ID :- 178,
« 3, Option ID :- 179,

» 4, Option ID :- 180,
Answer Given:- 2, Option ID : -178

Question ID:- 46

Most of the Adolescent children expect in schools :
(1) Co-operation

(2) Focus
(3) Socio-emotional support
(4) Attention

siferriy forein =rerer fomredl § forg =S =t sian w@a € 2

(1) w8am
(2) EAF FREW
(3)  HrHITSIR—HaTeH FeAr
(4) &
Options:-

«1, Option ID :- 181,
« 2, Option ID :- 182,
« 3, Option ID :- 183,

» 4, Option ID :- 184,
Answer Given:- 3, Option ID : -183

Question ID:- 47

https://kvsexam24feb23s 1.cbtexam.in/Candidate/ResponseSheet.aspx?UrIval=fa871369-297 1-460b-9691-98a128654623&R ol In0=220425212230204&Pgd... 22/89
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is leading cause of mental illness among present day youth.

(1) Psychosis

(2) Anxiety disorders
(3) Neurotic problems
(4) Low self esteem

AT A % el H HARE TUEI 61 T5E RO freifdd § 9 e ?

(1) =9

(2) gfvddar fasr

(3) dfeRTds HaE wHemd
(4)  STEH-THM H1HH B

Options:-

«1, Option ID :- 185,
» 2, Option ID :- 186,
« 3, Option ID :- 187,

« 4, Option ID :- 188,
Answer Given:- 2, Option ID : -186

Question ID:- 48

What is the primary socialising agency ?
(1) School
(2) Play ground
(3) Family
(4) Media

Freifera § 9 = wrafoes Gremsiieseor sfier (TS 22

() *e4

(2) @ w A

(3) URam

(4) SHEER weAd (Hifean)
Options:-

«1, Option ID :- 189,
« 2, Option ID :- 190,
« 3, Option ID :- 191,

» 4, Option ID :- 192,
Answer Given:- 1, Option ID : -189

Question ID:- 49

https://kvsexam24feb23s 1.cbtexam.in/Candidate/ResponseSheet.aspx?UrIval=fa871369-297 1-460b-9691-98a128654623&R ol Ino=220425212230204&Pgd...  23/89
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How parents can establish home-school continuity in learning ?
(1) Parents can arrange tution at home,

(2) Parents can set a flexible but consistent daily study routine at home.
(3) Parents can conduct exams at home.
(4) Parents can regularly take feedback on schools activities on daily basis.

orar-foan frg e stferm § e foaemer e enfua &% e § 2

(1)  HTa-foar =% TR ZWH 1 SHae1 T Tohdl ¢ |

(2) wmE-faan =R R wiEer fog e 8fte srorm 1 foreat fyifa o v §)
(3)  wTa-fidn =R OT wiiemd STrEfed Y Hehd € |

(4) wr-faar Sfer suR R faumers & wEsam 9 gefua gfagfe & g §)

2

Options:-

«1, Option ID :- 193,
» 2, Option ID :- 194,
« 3, Option ID :- 195,

» 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

Question ID:- 50

AEP [Adolescence Education Programme] aims at :

(I) To create awareness on Examination system.

(2) To create awareness among adolescents on Juvenile issues.
(3) To promote discipline among youth
(4) To promote mental fithess among children

©. 3. . (forsir fonen svrferm) o1 /99 ®

(1)  odien goreft 2 & H SRRl Scdel il

(2) Toreir & wafea wmei (fawdl) & aR o fvR aers-arfasei § Srpfd Sas &
(3) YA H STIAHA ] g &1

(4) TETH-SfcrRIet H HFEE A 6l FREr o

2

Options:-

«1, Option ID :- 197,
» 2, Option ID :- 198,
» 3, Option ID :- 199,

« 4, Option ID :- 200,
Answer Given:- 2, Option ID : -198

Question ID:- 51

https://kvsexam24feb23s 1.cbtexam.in/Candidate/ResponseSheet.aspx?UrIval=fa871369-297 1-460b-9691-98a128654623&R ol In0=220425212230204&Pgd...  24/89
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Which one of the these is an essential factor for learning at home in early stages of child’s
development ?

(1) Social support by kith and kin in family.

(2) Psychological and emotional support especially by mother.
(3) Emotional support by Father.

(4) Regular family’s social functions.

ieTeh & foaerd & SRfe =0 § = W At & fou fae=ifaa 9 § =1 smevas ens 2
(1) ORER | 9i Haftrl gr wmifse ggdm

(2) T &9 | A g wHATE SR e weAn
(3) Tod g0 HeTreHe TEEan
(4) Frafra w9 9§ F Al TRar & 9SS

Options:-

«1, Option ID :- 201,
» 2, Option ID :- 202,
» 3, Option ID :- 203,

» 4, Option ID :- 204,
Answer Given:- 2, Option ID : -202

Question ID:- 52

What is actually ‘maturation” in child’s growth ?

(1) Itis child’s growth and development that occurs concurrently.
(2) Itis only growth. |
(3) Itis only development.
(4)

4) Itis only Emotional development.

e % fagm # awqa: ftugem’ & aerd fFreifed § 8 fead 22
(1) =& 9o & 9ig i) sy famm € S EF @1y 26 )

(2) 3T aR9d FHad Hafg T

(3) THH! aqd FHaa fase F 7

(4) ¥IE Had Gameas fomm § gafid 2
Options:-

«1, Option ID :- 205,
« 2, Option ID :- 206,
» 3, Option ID :- 207,

« 4, Option ID :- 208,
Answer Given:- 1, Option ID : -205

Question ID:- 53

https://kvsexam24feb23s 1.cbtexam.in/Candidate/ResponseSheet.aspx?UrIval=fa871369-297 1-460b-9691-98a128654623&R ol In0=220425212230204&Pgd... 25/89
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The differentiation between ‘Good and Bad’ by child refers to :
(1) Moral domain

(2) Emotional domain
(3) Cognitive domain
(4) Social domain

aTeTsh R 3H iR gU' S H fade foen s frifera § @ form 89 @ dafum 82

(1) =faew &=

(2) T &

(3) HAHAHF &5

(4) GrifeEs 439
Options:-

«»1, Option ID :- 209,
» 2, Option ID :- 210,
» 3, Option ID :- 211,

» 4, Option ID :- 212,
Answer Given:- 1, Option ID : -209

Question ID:- 54

Which one of the following plays a key role in Educating the child after the school ?
(1) Home

(2) Family
(3) Media
(4) Teacher

() Te

(2) TRER

(3) SH-HAR HIZH

(4) H=ATIR
Options:-

«1, Option ID :- 213,
« 2, Option ID :- 214,
« 3, Option ID :- 215,

» 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55

https://kvsexam24feb23s 1.cbtexam.in/Candidate/ResponseSheet.aspx?UrIval=fa871369-297 1-460b-9691-98a128654623&R ol In0=220425212230204&Pgd... 26/89
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Which one of the following could be mental characteristic feature of Adolescent ?
(1) Feel awkwardness

(2) Crisis period

(3) Find fault with others

(4)

4)  Over confident

Freifera | & =P ToRsie 61 Afes fardmn 21 Sk 2 2
(1) 3THES HegH &

(2) HeeHIeA HAAEY

(3) 31 SAfRAl 1 fogramm

(4) fa-seafavars i vEA

Options:-

«1, Option ID :- 217,
« 2, Option ID :- 218,
« 3, Option ID :- 219,

»« 4, Option ID :- 220,
Answer Given:- 2, Option ID : -218

Subject : UTL_Q56-Q70_PRT24FEBSH1

Question ID:- 56

Learning is commonly perceived as :
(1) Acquiring knowledge

(2) Altered positive behaviour

(3) Developing skill
(4)

4 Understanding nature

" siferms’ S fee w9 H 9een & §

(1) FEHE
(2) uftEfdd SRS FTTRR
(3) v e
(4) 9 H T

Options:-

«1, Option ID :- 221,
» 2, Option ID :- 222,
»« 3, Option ID :- 223,

» 4, Option ID :- 224,
Answer Given:- 1, Option ID : -221

Question ID:- 57
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Behavioural theory of learning is based on :
(1) Maturation

(2) Sensory perception
(3) Stimulus-response
(4) Attitudinal change

srfery =1 SgEraR! fagia F=fafas 9 9 frg w enafa g g ?
(1) gRgeEm

Options:-

«1, Option ID :- 225,
» 2, Option ID :- 226,
» 3, Option ID :- 227,

» 4, Option ID :- 228,
Answer Given:- 4, Option ID : -228

Question ID:- 58

Which of the following could be an example of ‘constructivism’ in classroom learning ?
(1) Oral test

(2) Collaborative group work
(3) Demonstration of experiment
(4) Paper-pencil test

ey At § f=ifaa § 9 o T=AER | 1 3eRI g 9l § 2

(1) AifEs qdiem

(2) HRWIfiTdreHs |rfes

(3) WA I YeIH

(4) hrTS-Ufe Titam
Options:-

«1, Option ID :- 229,
» 2, Option ID :- 230,
» 3, Option ID :- 231,

» 4, Option ID :- 232,
Answer Given:- 1, Option ID : -229

Question ID:- 59

https://kvsexam24feb23s 1.cbtexam.in/Candidate/ResponseSheet.aspx?UrIval=fa871369-297 1-460b-9691-98a128654623&R ol Ino=220425212230204&Pgd...  28/89
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What should be the essential quality of teacher in classroom ?
(1) Ability to communicate

(2) Ability to tolerate

(3) Ability to inspire

(4) Ability to understand

el § ereATgss | Sifarda: frifera § | % | g =ey ?
(1) S =l Hre

(2) HlEWE i FFE

(3) URa T &I A

(4) FHFH HI A
Options:-

«1, Option ID :- 233,
« 2, Option ID :- 234,
»« 3, Option ID :- 235,

« 4, Option ID :- 236,
Answer Given:- 4, Option ID : -236

Question ID:- 60

What is an essential factor for learning in child ?
(1) Minimum emotions

(2) Ego
(3) Minimum LQ.
(4) Social behaviour

e ° At & fou sifad wns efafaa g g w0 8 2

(1) a9 "o

(2) &%

(3) I Ffg-Tfe

(4) G SHERRN
Options:-

«1, Option ID :- 237,
« 2, Option ID :- 238,
« 3, Option ID :- 239,

» 4, Option ID :- 240,
Answer Given:- 3, Option ID : -239

Question ID:- 61
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Which one of the following could be confident booster of child in learning ?
(I) Regular assessment and encouragement

(2) Rewards and incentives

(3) Regular parent interaction
(4)

4) Taking extra classes

=it § 9 = 2iftrm | arers | favamads &1 #9 = gFa § ?
(1) Frafma s 3R deed

(2) YRR 3R Qe

3) frafra w9 & a@a-foa & gae

(4) fafe wanst &1 sraeE
Options:-

«1, Option ID :- 241,
» 2, Option ID :- 242,
« 3, Option ID :- 243,

« 4, Option ID :- 244,
Answer Given:- 1, Option ID : -241

Question ID:- 62

What is the advantage of ICT tools in classroom ?
(1) Enhances imagination

(2) Arouses curiosity
(3) Enhances learning and retention
(4) Enhances happiness index

el H GEAT S HER YIEfiehl (7S §f &) SueRtll 1 o A § 2

(1)  Heg1 i S |

(2) THY SHA Tt ¢ |

(3) U Werkawy Al @R Jeud wed §
(4) THY FE=Ta GEFiF T € |

Options:-

«1, Option ID :- 245,
» 2, Option ID :- 246,
« 3, Option ID :- 247,

» 4, Option ID :- 248,
Answer Given:- 3, Option ID : -247

Question ID:- 63
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What is ‘TLM" in classroom ?
(1) Teaching-Learning-Material

(2) Technology-Learning-Material
(3) Teaching-Learning-Mission
(4) Technology-Levelling-Machines

Fen H ‘S U ' A TR R 2

(1) AfEr-aHr-afas

(2) S A
(3) <ifEr-ati-fe

(4) S-S fET- e

Options:-

«1, Option ID :- 249,
« 2, Option ID :- 250,
« 3, Option ID :- 251,

» 4, Option ID :- 252,
Answer Given:- 2, Option ID : -250

Question ID:- 64

What is an essential component of lesson plan ?
(1) AV aids

(2) Learning outcomes

(3) List of students
(4)

4 Name of teacher

qre—2rs1 o1 31fard wes = g ?

(1) FA-T9 STHY
(2) SAf gfawa
(3) Torgznfel =t g
(4) SIS HT AH

Options:-

«1, Option ID :- 253,
» 2, Option ID :- 254,
» 3, Option ID :- 255,

» 4, Option ID :- 256,
Answer Given:- 2, Option ID : -254

Question ID:- 65
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NEP-2020 set a target to achieve ‘Foundational Literacy and Numeracy”’ in primary schools by :

(1) 2030
(2) 2040
(3) 2025
(4) 2035

‘T faen Afifa - 2020 9, Fr=nifera | | e o 95 mufhe fagaresl | gfmd e ok dermem
%1 9 L 1 w8y Fuifed fm e 2

(1) 2030
(2) 2040
(3) 2025
(4-) 2035
Options:-

»1, Option ID :- 257,
» 2, Option ID :- 258,
» 3, Option ID :- 259,

» 4, Option ID :- 260,
Answer Given:- 3, Option ID : -259

Question ID:- 66

Which one of the following would enhance learning in classroom ?
(1) Low enrolment

(2) Comfortable furniture
(3) Conducive and supporting environment in class
(4) Teaching Aids

fr=ifra § @, forgs worasy wa § ety =1 gfg 2l ?
(1) =7 HiR

(2) FARTHSE HrAT=R
(3) heEn H e 3N S W
(4)  SFEATgT Frd

Options:-

«1, Option ID :- 261,
» 2, Option ID :- 262,
» 3, Option ID :- 263,

« 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Question ID:- 67
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Which one of the following factors affect negatively on learning ?
(1) Poor handwriting of teacher on Black Board

(2) Teaching Aids

(3) Discomfortable furniture

(4) Biased attitude of teacher towards students

freifera § 4 e sifrm W ofaser W qem & 2
(1) SF & AFaS T B TAE

(2) Toreror wERi

(3) TR-TRIH & FATeR

(4) Tagaifeli o yfq steargesi i qafuegy sifvgfa

Options:-
«1, Option ID :- 265,

»« 2, Option ID :- 266,
« 3, Option ID :- 267,

« 4, Option ID :- 268,
Answer Given:- 4, Option ID : -268

Question ID:- 68

What type of teaching method be employed by teacher in classroom ?
(1) One that suits homogeneous clientele
Experimental method

(2)
(3)  One that suits to heterogeneous clientele
(4) Lecture method

w1 g AvAgss I, freifera § 9 SE = foreror fafy stoamr =nfen 2

(1) e fafy s wuin-SefeE % sge 2
(2) TR ot
(3) U fafy S smmim Janfeldi & agge 2
(4) = fafa

Options:-

«1, Option ID :- 269,
» 2, Option ID :- 270,
« 3, Option ID :- 271,

» 4, Option ID :- 272,
Answer Given:- 2, Option ID : -270

Question ID:- 69
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The learner is actively involved in :
(1) Constructive type of learning

(2) Naturalistic type of learning
(3) Behaviouristic type of learning
(4) Realistic type of learning

sferroeRal fr=ifera o 9, ey afrargds sl g €2
(1) Aferm =T TS et

(2) e i wefaaTet St

(3) sferm ot HagRaret el

(4)  sferm s Aenefandt et
Options:-

«1, Option ID :- 273,
»« 2, Option ID :- 274,
« 3, Option ID :- 275,

» 4, Option ID :- 276,
Answer Given:- 1, Option ID : -273

Question ID:- 70

The learner is passive in :
(1) Connectivism

(2) Constructivism
(3) Behaviourism
(4) Cognitivism

freifera & |, frgd arfirmgesat fafera war 82

1]

Options:-

«1, Option ID :- 277,
« 2, Option ID :- 278,
» 3, Option ID :- 279,

» 4, Option ID :- 280,
Answer Given:- 1, Option ID : -277

Subject : CCLE_Q71-Q80_PRT24FEBSH1

Question ID:- 71
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What is inclusive education ?
(1) Special education for disabled.

(2) All children in same class irrespective of caste, creed, religion, physical fitness, should get
equal opportunities.

(3) Education for all.
(4) Special education for girls.

Tt faen Fm ¥ 2

(1) Te=min sreei & forg favrg foen

(2) U B FaN kWl e el B 3 fRdl oft sfa, e, o, i draa F @, 3% U 9EE STEE
frer =nfe

(3) Wi % ferg foren

(4) enferenrei & foa farem foren

Options:-

«1, Option ID :- 281,
» 2, Option ID :- 282,
» 3, Option ID :- 283,

» 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72

According to PWD Bill, 2016, which one of the following age group of Disabled children is entitled
to free education ?

(1) 6-18 years
(2) 6-14 years
(3) 0-14 years
(4) 6-15 years

v =afai =1 sifuer fadees (dies 2l @, 2016) % SR feifed § 4 form o= &1 & fe=aim
ATt :3[e e g T % gheR 87

(1) 6d18aH
(2) 69I149Y
(3) 09149y
(4) 6H159d
Options:-

«1, Option ID :- 285,
« 2, Option ID :- 286,
« 3, Option ID :- 287,

» 4, Option ID :- 288,
Answer Given:- 1, Option ID : -285

Question ID:- 73
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What is the role of schools in addressing disabled related issues ?
(1) Sympathy

(2) Empathy
(3) Providing equal opportunities without any discrimination.
(4) Apathy

feeaimar | waiferd g8 & franm § wher & yfrs €2
(1) ey

(2) WO

(3) To forddt 9hm % 9R9TE & UF GHM SEE WeH FHE
(4) =

Options:-

«»1, Option ID :- 289,

» 2, Option ID :- 290,

» 3, Option ID :- 291,

» 4, Option ID :- 292,
Answer Given:- 3, Option ID : -291

Question ID:- 74

Mental health refers to :

(I) Cognitive, behavioural and emotional well being,

(2) Psychomotor - physical well being.
(3) Social - behavioural well being.
(4) Psychological - social well being,

e TR & aeed fRed 82
(1) HIARTE, HTERRTEF AR TEACHE FHIA |
(2) HAEH-VRIREF e |
(3) HHISEh-sTEaBRYTH FHIe |
(4)  FETSITTR- SIS e |
Options:-
«1, Option ID :- 293,
« 2, Option ID :- 294,

» 3, Option ID :- 295,

» 4, Option ID :- 296,
Answer Given:- 1, Option ID : -293

Question ID:- 75
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Which one of the following intervention would address mental disorder in school children ?
(1) Chemotherapy

(2) Behavioural therapy
(3) Radio therapy
(4) Cognitive - Behavioural therapy

freifera § 4 ford Sum | whell 9= & A - fomrr 1 R form s wepan €7
(1)  FEERY

(2) THIERIEH STAN

(3) feamd

(4) HIFHS- RIS Fafeha

2

Options:-

«1, Option ID :- 297,
» 2, Option ID :- 298,
« 3, Option ID :- 299,

» 4, Option ID :- 300,
Answer Given:- 4, Option ID : -300

Question ID:- 76

What is ‘Hydrocephalus’ in mental health disorder ?
(1) Large Headed condition

(2) Itis cranial anomaly leading to accumulation of fluid in Brain,
(3) It is hormonal imbalance.
(4) Mental retardation with low 1.Q.

THfae R fawr §  egifathers’ 1 awd e 872

(1) T&R 1 3R &1 B 1 <9 |

(2) % UH FHuea famnfa € s woaesy afss o g9 %1 9uem g 2
(3) & BHM THEH 2|

(4) 7 gfg wfs wied wAfdw fame

2

Options:-

«1, Option ID :- 301,
» 2, Option ID :- 302,
« 3, Option ID :- 303,

» 4, Option ID :- 304,
Answer Given:- 2, Option ID : -302

Question ID:- 77

https://kvsexam24feb23s 1.cbtexam.in/Candidate/ResponseSheet.aspx?UrIval=fa871369-297 1-460b-9691-98a128654623&R ol Ino=220425212230204&Pg|d...  37/89



Join Telegram Group  HaryanaJobs.in"

3/7/23, 4:29 AM Respons

What is the need of the hour in schools to address ‘Mental illness” among children ?
(1) Medical assistance.

(2) Allotment of separate periods to teach mental health issues.
(3) Regular appointment of professional health counselling.
(4) Parents intervention.

el B ¢ W o’ 3 AR g9 Thel § oS & 99 ¥ Ry e @ sayged 7

(1) Tafered= wema

(2) HAEfEE @R Gadt fawdl & 21ea 'y yue s safed feu s @t snavasar g1
(3) EAEHEITE TR qHeErda i g d) o e fe s w6t smevae €1

(4) HE-TUAT o TEI&T hl ST B

Options:-

«1, Option ID :- 305,
« 2, Option ID :- 306,
« 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- 2, Option ID : -306

Question ID:- 78

How to ensure cordial Home-school relationship in society ?
(1) Children should take part in social activities.

(2) Regular participation of parents in school programmes
(3) Awareness to be created on relationship

(4) Official monitoring by parents

TS § ey Te-faere weay %y giafeem fern s =few 2
(1) @reTehi = |rHITSR TTfafatedl | s o= =fee )

(2) Tommem & gl 9 Aa-foa w5 fEfm aeier 8 =t
(3) HeH % LY SEHAT U= Hl SAH =

(4) TE-TUdr 5H0 YT 9 W Rt o6t S e

Options:-

«1, Option ID :- 309,
»« 2, Option ID :- 310,
« 3, Option ID :- 311,

» 4, Option ID :- 312,
Answer Given:- 2, Option ID : -310

Question ID:- 79
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The child will develop the following quality from ‘Community centre’ ?
(1) Natural learning

(2) Excitement

(3) Behavioural change

(4)

4 Social learning

Tl F= 9 e 5 feifad 9§ | &5 o fasmtm g ?

(1) “EfifE sfm

(2) e

(3) SHEER W HRed
(4) G STfREH
Options:-

«1, Option ID :- 313,
»« 2, Option ID :- 314,
« 3, Option ID :- 315,

« 4, Option ID :- 316,
Answer Given:- 4, Option ID : -316

Question ID:- 80

Community learning would act as :

(1) Formal learning

(2) Supplementary learning

(3) Substitute learning for school learning
(4) Non-formal learning

wrEifae s feifen | 9 et % w5 ?

(1) SirgenfeE st

(2) IR st

(3) Temmer stfermy w1 wfaweres st
(4) SRS Sy

Options:-

«1, Option ID :- 317,
« 2, Option ID :- 318,
« 3, Option ID :- 319,

» 4, Option ID :- 320,
Answer Given:- 2, Option ID : -318

Subject : SOL_Q81-Q90_PRT24FEBSH1

Question ID:- 81
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What is an essential quality of school leader ?
(1) Good orator

(2) Team building
(3) Highly knowledgable
(4) Punctual

feremers & e =1 0 SfEr e ?

(1) ST =R

(2) Em-fraim

(3) eTcaftes FT

(4) HHES
Options:-

«1, Option ID :- 321,
» 2, Option ID :- 322,
« 3, Option ID :- 323,

« 4, Option ID :- 324,
Answer Given:- 2, Option ID : -322

Question ID:- 82

Which type of leadership style is more effective ?
(1) Servant leadership

(2) Transformational leadership
(3) Distributed leadership
(4) Autocratic leadership

frifera & & form TR Y g St sanga-sifus gt 2t § 2

(1) -
(2) EHAEHRI g
(3) foufe-yof 5g
(4) TE=TE g
Options:-

«1, Option ID :- 325,
» 2, Option ID :- 326,
« 3, Option ID :- 327,

» 4, Option ID :- 328,
Answer Given:- 2, Option ID : -326

Question ID:- 83
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Now a days many schools are running short of
(1) Good students

(2) Inspiring school leaders (Principal)

(3) Effective Teachers
(4)

4) Funds

77 feAi srfeeriyr fermeri o, frifera o 9 formen o1 82
(1) ITH STeTsh-sfcreRisl =l

(2) U E o ®9 H faEners & Aqar (wrEe) w6
(3) WHERITE AEAThi I

(4) Taferi &1
Options:-

»1, Option ID :- 329,
»« 2, Option ID :- 330,
« 3, Option ID :- 331,

« 4, Option ID :- 332,
Answer Given:- 3, Option ID : -331

Question ID:- 84

What would you suggest ‘Good Vision Statement” for your school ?
(1) Dream big and Focus on Process rather than Goal
Focus on Goal

(2)
(3) Purpose oriented
(4) Value Oriented

a9 1o faener & e froifea @ 9, fd  sag iawraef Fom' & w0 oftiier vy s o1 geme <7 2
) HE = oE S @ T Seg A YohH UL 2 hied He
(2) 8T T A hiEd

(3) WASHRE!

(4) TE-IE

Options:-

«1, Option ID :- 333,

» 2, Option ID :- 334,

» 3, Option ID :- 335,

» 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85
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What is the purpose of “School Calendar” ?
(1) To complete the syllabus in time

(2) To plan co-curricular activities
(3) To plan vacation schedule
(4) To complete assigned tasks within deadlines

forener % Feist 1 = WHeH 2

(1) 993 W ISIH G0 HE

(2) HE-UIZHEAl HAFEATT 1 ASH I

(3) el (T i ST ol AISHT S

(4) TayifE wa d & e gefee & e & @ S

2

Options:-

«1, Option ID :- 337,
« 2, Option ID :- 338,
« 3, Option ID :- 339,

« 4, Option ID :- 340,
Answer Given:- 2, Option ID : -338

Question ID:- 86

What is the role of Parents Teachers Association in schools ?
(1) Tt facilitates positive learning environment in school
(2) To mobilise financial resources

(3) To find fault with school

(4) It helps school to progress

foremerdi & erforaaes-s1earass | w1 T i § 7
(1) 39% Torerey foemem 8 siftrm % foru g aee s 8 giaen @d &

(2) fad HaeE S

(3) Taemerm ¥ Sw gem

(4) THY foemers ot yofq o wewa foort €
Options:-

«1, Option ID :- 341,
« 2, Option ID :- 342,
« 3, Option ID :- 343,

» 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87

https://kvsexam24feb23s 1.cbtexam.in/Candidate/ResponseSheet.aspx?UrIval=fa871369-297 1-460b-9691-98a128654623&R ol In0=220425212230204&Pgd... 42/89



37123, 429 AM Join Telegram Group ;HaryanaJobs.in

Respons

What is the significance of “Morning Assembly” in schools ?
(1) It helps in routine work of schools.

(2) To communicate the information to all stake holders.
(3) Promotes value system among children.
(4) Itis part of Administrative requirement.

feremeri § ‘Wi =hTels eTEed | i e wefem § 2
(1) =59 faee & At s@ o gema foewd 8

(2) THY 9T fequrenl =1 a1 Hofud 8 el €
(3) THY SIeTh # G YUIEl w1 Gae B |
(4) % UIHTH STU&T S 9T B

Options:-

«1, Option ID :- 345,
» 2, Option ID :- 346,
»« 3, Option ID :- 347,

« 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

Question ID:- 88
Which one of the following factors can enhance learning in classroom ?
(1) Through Group discussion
(2) Through A.V. Aids
(3) Through Self-reading
(4) Through Lecture method

Freiferd | 9, fore ekl (2ai) & Therasy el § At | gfig 81 wekdl ® 2
(1) wHfes fomel & aream |

(2) &7 9T TSN o W g

(3) FEYSH & HEAH H

(4) =M fafy & mem |
Options:-

«1, Option ID :- 349,
« 2, Option ID :- 350,
« 3, Option ID :- 351,

» 4, Option ID :- 352,
Answer Given:- 1, Option ID : -349

Question ID:- 89
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Which type of motivation is effective for learning ?
(1) Extrinsic Motivation

(2) Intrinsic Motivation
(3) Emotional Motivation
(4) Social Motivation

frifera § 4, 59 o 1 P99 eiferm & fao g g e 2

(1) = A

(2) sTaya s
(3) HORTIHS SIfegor
(4) Gmfser  sfygo
Options:-

«1, Option ID :- 353,
»« 2, Option ID :- 354,
« 3, Option ID :- 355,

» 4, Option ID :- 356,
Answer Given:- 2, Option ID : -354

Question ID:- 90

What is the significance of "Feedback’ mechanism in school ?
(1) Tt facilitates introspection to improve further

(2) To get more funds

(3) To inform parents

(4) Part of supervision

foremer ¥ ‘wfgfie’ frenfafy =t @ aefem 22

(1) 399 SR T wias § GHR 1 STaE A &6l &
(2) &R aAfuss ffeer g w

(3) e Toeil/2AfrErehl =1 FEAT IqeT= HIAT

(4) o= gdde @ Y T

2

Options:-

«1, Option ID :- 357,
» 2, Option ID :- 358,
»« 3, Option ID :- 359,

» 4, Option ID :- 360,
Answer Given:- 1, Option ID : -357

Subject : PE_Q91-Q100_PRT24FEBSH1

Question ID:- 91
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‘PARAKH’ deals with :

(1) National Aptitude Test

(2) National Assessment in Education
(3) National Curriculum Frame work
(4) National Survey on Education

‘qrg’ = ey e § 9 g § 2

(1) U AfEraar wdiem
(2) Toran ¥ wgiE gediwA

(3) U UrSTEE U

(4) o & SR H T wEa
Options:-

«1, Option ID :- 361,
» 2, Option ID :- 362,
»« 3, Option ID :- 363,

» 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362

Question ID:- 92

When was ‘Sargent Commission” set up in India ?

(1) 1969
(2) 1961
(3) 1964
(4) 1944

gL H ‘Heie’ ST S ST R e T o ?

(1) 1969
(2) 1961
(3) 1964
(4) 1944
Options:-

«1, Option ID :- 365,
» 2, Option ID :- 366,
» 3, Option ID :- 367,

» 4, Option ID :- 368,
Answer Given:- 4, Option ID : -368

Question ID:- 93
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The Pattern of Education modified by NEP-20 as :
(1)) 5F3+3+2

2) 10+2+3
(3) 5+3+3+4
(4) 5+3+4+3

s foren Afifa - 2020 1 e Suiafa ufasy € :

(1) 5+5+3+2
(2) 10+2+3
(3) 5+3+3+4
(4) 5+3+4+3

Options:-

«1, Option ID :- 369,
» 2, Option ID :- 370,
» 3, Option ID :- 371,

» 4, Option ID :- 372,
Answer Given:- 3, Option ID : -371

Question ID:- 94

How many minimum instructional hours per week is fixed for teachers as per RTE, Act 2009 ?

(1) 45
(2) 40
(3) 33
4) 36

T =1 erfemRm sifafarm, 2009 % TR Wfa Twe =Fad fead |9 =1 faem fem &2

(1) 45
(2) 40
(3) 33
(4) 36
Options:-

«1, Option ID :- 373,
» 2, Option ID :- 374,
« 3, Option ID :- 375,

» 4, Option ID :- 376,
Answer Given:- 1, Option ID : -373

Question ID:- 95
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Free Education upto class VIII, prescribed by :
(I) RTE Act 2009

(2) NCPCR
(3) NEP 1986
(4) NPE - 2020

Feql NS e 1. 31eeR fonen o susy ferad fauifia faren mn 2
(1) Toren = aaferspr safufaam, 2009

(2) A H U SR

(3) = foan +ifa, 1986

(4) wE foren fifd, 2020
Options:-

«1, Option ID :- 377,
»« 2, Option ID :- 378,
« 3, Option ID :- 379,

« 4, Option ID :- 380,
Answer Given:- 1, Option ID : -377

Question ID:- 96

The “Assessment’ in Education aims at :

(1) Measuring learning levels and remediation
(2) Evaluation of content learnt

(3) Gauging understanding level of the child
(4) Testing skill content

foreq & &5 7 ' sTreReT 1 AR R
(1) sfes &=/ o1 |9 S gER

(2) aAfemTfaa sidesg =1 godiea
(3) @TeTsh i HHH o WL hl Yfd
(4) RIITA SHAT %1 GH&
Options:-

«1, Option ID :- 381,
» 2, Option ID :- 382,
»« 3, Option ID :- 383,

» 4, Option ID :- 384,
Answer Given:- 1, Option ID : -381

Question ID:- 97
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What is the age bracket suggested by RTE Act 2009, in schools ?
(1) 5-18 years

(2) 6- 14 years
(3) 3-12years
(4) 6-11 years

o =1 sifepr sifafrm, 2009 gr foramersi § fore oo-¢f =1 Yo fean 71 €2

(1) 591894
(2) 6| 14TH
(3) 3H129H
(4 6F 114
Options:-

«1, Option ID :- 385,
»« 2, Option ID :- 386,
« 3, Option ID :- 387,

« 4, Option ID :- 388,
Answer Given:- 2, Option ID : -386

Question ID:- 98

According to NEP-2020, by which year the target of ‘Foundational Literacy and Numeracy’ in
Primary Education is to be achieved ?

(1) 2040
(2) 2035
(3) 2030
(4) 2025

ey fren Hifd, 2020 % FTER WAfter fan § ‘giEEl weara R gerE’ @ |@s e 96 9 @
fopan ST 8 2

(1) 2040
(2) 2035
(3) 2030
(4) 2025
Options:-

«1, Option ID :- 389,
« 2, Option ID :- 390,
» 3, Option ID :- 391,

» 4, Option ID :- 392,
Answer Given:- 4, Option ID : -392

Question ID:- 99
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What PTR (Pupil-Teacher-Ratio) is prescribed in NEP-2020, in the schools located in
socio-economically disadvantaged areas ?

(1) 25:1
(2) 30:1
(3) 35:1
(4 40:1

e foren Afifd, 2020 9 g enfde-wv @ sufam o= o et faumeE 3 frs-srems & #0

s1ud fafad feran man 8 2
(1) 25:1

(2) 30:1

(3) 35:1

(4) 40:1

Options:-

«1, Option ID :- 393,
« 2, Option ID :- 394,
» 3, Option ID :- 395,

» 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100

What is the purpose of Education ?
(1) Earning to live

(2) Transformation of life

(3) To know the nature
(4)

4) To develop positive attitude

Teq1 =1 P11 WS B 2

Options:-

»1, Option ID :- 397,
« 2, Option ID :- 398,
» 3, Option ID :- 399,

» 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Subject : HINDI_Q101-Q120_PRT24FEBSH1

Question ID:- 101
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Frefefiaa TeyT st gt SHeRT S 9T T Tieh 3T STl

T HisH afig =1 & g8 AW § 1 Siaq w1 HieaEdl 1 @ EH % fau gefw g9 s afee ) gm
Y el o1 g@ oiR it foerd) & e 9% gudl #1 ot woa | R Sar 1 fava H i S o e ¥, St
TRl %1 168 81 o Al &1 wfed afigd & %1 TR faveys § 5@ S W ven 5y frrn =
IHH gd 8l a7 g7 | T HRTgS o W1 ST o ARTRER ° W-Ta7 e 99 T 3IR 111 379 0 i
gfrn o faesfoa S 1 dfem o o1 et T w1 fen

e st HfeTEA S FY T & fAU A A

(1) wefek g9
(2)
(3) eIl
(4) gHEH
Options:-

«1, Option ID :- 401,
» 2, Option ID :- 402,
« 3, Option ID :- 403,

» 4, Option ID :- 404,
Answer Given:- 1, Option ID : =401

Question ID:- 102

FreTfeiaa eyt s Uget SHeRT SATENRA U9 ohT Weldh 3T et

9 oA TRem =1 & gH0 98 8 | Sited Fi HieTedl 1 QW F o fou wiefs gu e =mfe) 9=
T el et g &R wifd foerdt € o o gl w1 ot weera § s < 71 fava B S S e a9 €, 3t
GRETd] &1 W 98l o [Hanadl o1 wfed ufigw @ ) s favags d @ s o ved a9 fren wn @

g1 Sigd € farn gen | b Wergs o 1 SO o AT 5 Ta-fer e gm faen Si et e <o
g o farfaa 290 1 dfem o o et T T fean)

I 1 G0 TH B
(1) <r§d

(2)

(3) hfed 9ftgm
(4) o emm
Options:-

«1, Option ID :- 405,
« 2, Option ID :- 406,
» 3, Option ID :- 407,

« 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407

Question ID:- 103
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Frerfefiaa TeneT st ugeEt SHeRT STUTRE U9 T Wt 30T el

T HisH afig =1 & g8 AW § 1 Siaq w1 HieaEdl 1 @ EH % fau gefw g9 s afee ) gm
Y el o1 g@ oiR it foerd) & e 9% gudl #1 ot woa | R Sar 1 fava H i S o e ¥, St
TRl %1 168 81 o Al &1 wfed afigd & %1 TR faveys § 5@ S W ven 5y frrn =
IHH gd 8l a7 g7 | T HRTgS o W1 ST o ARTRER ° W-Ta7 e 99 T 3IR 111 379 0 i
gfrn o faesfoa S 1 dfem o o1 et T w1 fen

Trafafas & 999 @91 74 faea 82

(1) s ga

(2) wifd

(3) Y=

(4) ufafs
Options:-

«»1, Option ID :- 409,
» 2, Option ID :- 410,
« 3, Option ID :- 411,

» 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104

FreTfeiaa eyt s Uget SHeRT SATENRA U9 ohT Weldh 3T et

9 oA TRem =1 & gH0 98 8 | Sited Fi HieTedl 1 QW F o fou wiefs gu e =mfe) 9=
T el et g &R wifd foerdt € o o gl w1 ot weera § s < 71 fava B S S e a9 €, 3t
GRETd] &1 W 98l o [Hanadl o1 wfed ufigw @ ) s favags d @ s o ved a9 fren wn @
ST wgd & a9 g7 | fohg HRTgS o W1 ST o AR ° W-fod e 99 foh 3i) 3111 3794 &9 &1
gfen o faefoa 39l =1 dfem & o et T = fen
faea ® o1l g aTel <90 I Aherd] S W89 ©

(1) FHFeH
(2 i
(3) hfed 9ftgm
(4) AR
Options:-

«1, Option ID :- 413,
« 2, Option ID :- 414,
» 3, Option ID :- 415,

« 4, Option ID :- 416,
Answer Given:- 3, Option ID : -415

Question ID:- 105
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Treferfaa TeIeT ot Teeht SRt STenfia W9 i Weleh SuT ol :

T hioA afigw =1 & g80 W § | Sfiaq &1 Higedl %1 g FH & fae wefw gu Hen =fen ) g9
Y el o1 g iR iifa foer) & o 9% ool &1 oft yo=a | s <ar ¢ fava H S S o 9 ¥, St
TRl %1 68 81 o Al & wfod 9igd & €1 IR favegs ¥ 5@ 99H W ven 31 e =
FHeHT Fgd Bl faTe g1 | fohd Wergs o o1e S o AR  Ud-Ter Hiaw g9 fora iR 111 79 <% !
gfern o faefa 29l =i dfem § o) et we w1 fean
T favag & =18 ST & et A o9 W o fa o foag @ fn 2
(1) g =1 fam™

(2) B ST o i

(3) e feT gm

(4) @M 3R AH
Options:-

«1, Option ID :- 417,
» 2, Option ID :- 418,
» 3, Option ID :- 419,

« 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106

‘St wee = yEfETE v TR R

(1) =mid
(2) =fa
(3)  THolt
(4)  fT
Options:-

«1, Option ID :- 421,
» 2, Option ID :- 422,
« 3, Option ID :- 423,

» 4, Option ID :- 424,
Answer Given:- 1, Option ID : -421

Question ID:- 107

ageiife THH IR F ;
(1) ewfefEd

(2) idieR

(3) =

(4) T

Options:-

»1, Option ID :- 425,
» 2, Option ID :- 426,
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=« 3, Option ID :- 427,

« 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 108

Treferfea o aoam ves 78l 8
(1) =3
(2) F3A
(8) %=
(4) e
Options:-

«1, Option ID :- 429,
» 2, Option ID :- 430,
« 3, Option ID :- 431,

« 4, Option ID :- 432,
Answer Given:- 4, Option ID : -432

Question ID:- 109

Frefafas fasmed vee-—g=i 4 o §

(1) =d-faue
(2) HAw-gAs
(3) eAfe-wHE
(4) qE-ATE
Options:-

«1, Option ID :- 433,
» 2, Option ID :- 434,
« 3, Option ID :- 435,

« 4, Option ID :- 436,
Answer Given:- 3, Option ID : -435

Question ID:- 110

Fr=fafed & moeres fawo == 2
(1) 9t

(2) A

(3) YU

(4) Tl

Options:-

«1, Option ID :- 437,
» 2, Option ID :- 438,
» 3, Option ID :- 439,

» 4, Option ID :- 440,
Answer Given:- 3, Option ID : -439
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Question ID:- 111

(1) =eqid
(2) TR
(3) HeRM
(4) EEFEg
Options:-

«1, Option ID :- 441,
» 2, Option ID :- 442,
« 3, Option ID :- 443,

» 4, Option ID :- 444,
Answer Given:- 1, Option ID : -441

Question ID:- 112

Trfafaa 7 * eremH 22 gea’ Heral & 9 1Y ©

(1) =Ea He

(2) =G A

(3) et foufa st

(4) =FIEE H =R

Options:-

»1, Option ID :- 445,
» 2, Option ID :- 446,
» 3, Option ID :- 447,

« 4, Option ID :- 448,
Answer Given:- 3, Option ID : -447

Question ID:- 113

‘usr O =1 SFH | fefafag 9 9 feas | g2

(1) =T 3
() HeE TiE
(3) SR & AW
(4) FR TRR
Options:-

»1, Option ID :- 449,
» 2, Option ID :- 450,
« 3, Option ID :- 451,

« 4, Option ID :- 452,
Answer Given:- 4, Option ID : -452

Question ID:- 114
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(1) <R e
(2) e
(3) € A
(4) < T
Options:-

«1, Option ID :- 453,
» 2, Option ID :- 454,
« 3, Option ID :- 455,

« 4, Option ID :- 456,
Answer Given:- 1, Option ID : -453

Question ID:- 115

‘g & g’ T % ol TR ©

(1) H&ar g

(2) HeATE

(3) @S

(4) W
Options:-

«1, Option ID :- 457,
» 2, Option ID :- 458,
« 3, Option ID :- 459,

» 4, Option ID :- 460,
Answer Given:- 4, Option ID : -460

Question ID:- 116

(1) ey fHe

(2) ST FEE 5

(3) oretemg MR

(4) YRR SRIge fHe
Options:-

«1, Option ID :- 461,
» 2, Option ID :- 462,
» 3, Option ID :- 463,

« 4, Option ID :- 464,
Answer Given:- 1, Option ID : -461

Question ID:- 117
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‘feufeuen' & WA &
(1) TEeeA
(2) amfaH
(3)  Toisn Tt SR
(4) Rew v =
Options:-

«1, Option ID :- 465,
» 2, Option ID :- 466,
« 3, Option ID :- 467,

« 4, Option ID :- 468,
Answer Given:- 4, Option ID : -468

Question ID:- 118

" IEETS HERdl AT S SR W SaTeU R HeRdl F gielt ¥ Yoy e & v e |1 IR S e e ?

(1) RIS T

(2) AW

(3) gume feRan

(4) A ST
Options:-

«1, Option ID :- 469,
» 2, Option ID :- 470,
« 3, Option ID :- 471,

« 4, Option ID :- 472,
Answer Given:- 3, Option ID : -471

Question ID:- 119

‘9" g} = TENY =IF ¥

(1) e
(2) dAeH
(3) HHA
(4 =
Options:-

«1, Option ID :- 473,
» 2, Option ID :- 474,
» 3, Option ID :- 475,

« 4, Option ID :- 476,
Answer Given:- 2, Option ID : -474

Question ID:- 120
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‘e | Well Fedia’ % SR W Fdsy fh 3R o = i gErel ?

(1) HIcil S9! =0 &I 21

(2) W H BT

(3) el 3H W H g H B feu =
(4) =& UL R gl @ Al

Options:-

«1, Option ID :- 477,
» 2, Option ID :- 478,
« 3, Option ID :- 479,

« 4, Option ID :- 480,
Answer Given:- 1, Option ID : -477

Subject : ENGLISH_Q121-Q140_PRT24FEBSH1

Question ID:- 121

Read the passage given below and answer the question that follow :

Everytime my mother hears a tune or a song, her hands instinctively start tapping to

the beats - the table, laptop or book becomes her instrument. She has been wanting to get
a dholak for a long time, but I didn’t understand why, and forgot about her request. I have
vague memories of her playing a dholak at someone’s sangeet party when I was a child,
but that's about it. Therefore, I could not understand why she would possibly want this
instrument after so many years.
A while ago, on vacation in a small town, my mother’s desire to get a dlolak was rekindled.
Qverjoyed at finding out that in our neighbourhood someone had a dholak, 1 was
immediately sent to borrow it for a few days. In the evening, she sat with the dholak and
started playing, humming and trying to recall tunes she used to play. Sitting on a mattress
under a sloping wooden roof, with the cool mountain breeze, I saw my mother in her
elements. While in her solitary moment of reminiscence, she asked me to call up her sister
so that she could ask her the lyrics they used to learn and sing as children.

The mother last played dhwolak .....
(1) at the narrator’s wedding.
(2) ata religious function.

(3) at a sangeet ceremony.

(4) when she herself was a child.

Options:-

«1, Option ID :- 481,
» 2, Option ID :- 482,
» 3, Option ID :- 483,

» 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 122
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Read the passage given below and answer the question that follow :

Everytime my mother hears a tune or a song, her hands instinctively start tapping to

the beats - the table, laptop or book becomes her instrument. She has been wanting to get
a dholak for a long time, but I didn’t understand why, and forgot about her request. I have
vague memories of her playing a dholak at someone’s sangeet party when I was a child,
but that's about it. Therefore, I could not understand why she would possibly want this
instrument after so many years.
A while ago, on vacation in a small town, my mother’s desire to get a dlolak was rekindled.
Overjoyed at finding out that in our neighbourhood someone had a dholak, 1 was
immediately sent to borrow it for a few days. In the evening, she sat with the dholak and
started playing, humming and trying to recall tunes she used to play. Sitting on a mattress
under a sloping wooden roof, with the cool mountain breeze, I saw my mother in her
elements. While in her solitary moment of reminiscence, she asked me to call up her sister
so that she could ask her the lyrics they used to learn and sing as children.

Study the following statements :

The mother showed her interest in dholak by :
(A) tapping a table or a laptop.

(B) asking for a dholak many a time.

(1) (A)is right and (B) is wrong,
(2) (B) isright and (A) is wrong.
(3) Both (A) and (B) are wrong.
(4) Both (A) and (B) are right.

Options:-

«1, Option ID :- 485,
» 2, Option ID :- 486,
« 3, Option ID :- 487,

» 4, Option ID :- 488,
Answer Given:- 1, Option ID : -485

Question ID:- 123
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Read the passage given below and answer the question that follow :

Everytime my mother hears a tune or a song, her hands instinctively start tapping to

the beats - the table, laptop or book becomes her instrument. She has been wanting to get
a dholak for a long time, but I didn’t understand why, and forgot about her request. I have
vague memories of her playing a dholak at someone’s sangeet party when I was a child,
but that's about it. Therefore, I could not understand why she would possibly want this
instrument after so many years.
A while ago, on vacation in a small town, my mother’s desire to get a dlolak was rekindled.
Qverjoyed at finding out that in our neighbourhood someone had a dholak, 1 was
immediately sent to borrow it for a few days. In the evening, she sat with the dholak and
started playing, humming and trying to recall tunes she used to play. Sitting on a mattress
under a sloping wooden roof, with the cool mountain breeze, I saw my mother in her
elements. While in her solitary moment of reminiscence, she asked me to call up her sister
so that she could ask her the lyrics they used to learn and sing as children.

Her desire to get a dholak resurfaced when she:

(1) passed by a musical instruments shop.

(2) heard the sound of dlwlak in the neighbourhood.
(3) came to know that a dholak did not cost much.
(

4) realised she could borrow one from a neighbour.

Options:-

«1, Option ID :- 489,
« 2, Option ID :- 490,
» 3, Option ID :- 491,

» 4, Option ID :- 492,
Answer Given:- 4, Option ID : -492

Question ID:- 124

Read the passage given below and answer the question that follow :

Everytime my mother hears a tune or a song, her hands instinctively start tapping to
the beats - the table, laptop or book becomes her instrument. She has been wanting to get
a dholak for a long time, but I didn’t understand why, and forgot about her request. I have
vague memories of her playing a dholak at someone’s sangeet party when I was a child,
but that's about it. Therefore, I could not understand why she would possibly want this
instrument after so many years.

A while ago, on vacation in a small town, my mother’s desire to get a dlolak was rekindled.
Qverjoyed at finding out that in our neighbourhood someone had a dholak, 1 was
immediately sent to borrow it for a few days. In the evening, she sat with the dholak and
started playing, humming and trying to recall tunes she used to play. Sitting on a mattress
under a sloping wooden roof, with the cool mountain breeze, I saw my mother in her
elements. While in her solitary moment of reminiscence, she asked me to call up her sister
so that she could ask her the lyrics they used to learn and sing as children.

She shared her interest in music with
(1) the narrator

(2)  her mother
(3)  her sister

(4)  her friends

Options:-

«1, Option ID :- 493,
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= 2, Option ID :- 494,
« 3, Option ID :- 495,

» 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 125

Read the passage given below and answer the question that follow :

Everytime my mother hears a tune or a song, her hands instinctively start tapping to
the beats - the table, laptop or book becomes her instrument. She has been wanting to get
a dholak for a long time, but I didn’t understand why, and forgot about her request. I have
vague memories of her playing a dholak at someone’s sangeet party when I was a child,
but that's about it. Therefore, I could not understand why she would possibly want this
instrument after so many years.

A while ago, on vacation in a small town, my mother’s desire to get a dlolak was rekindled.
Overjoyed at finding out that in our neighbourhood someone had a dholak, 1 was
immediately sent to borrow it for a few days. In the evening, she sat with the dholak and
started playing, humming and trying to recall tunes she used to play. Sitting on a mattress
under a sloping wooden roof, with the cool mountain breeze, I saw my mother in her
elements. While in her solitary moment of reminiscence, she asked me to call up her sister
so that she could ask her the lyrics they used to learn and sing as children.

‘I have vague memories of ....."
The underlined word does not mean :

(1) dim

(2) clear

(3) obscure

(4) faint
Options:-

«1, Option ID :- 497,
« 2, Option ID :- 498,
« 3, Option ID :- 499,

» 4, Option ID :- 500,
Answer Given:- 2, Option ID : -498

Question ID:- 126

Identify the part of the following sentence that has an error in it.

Ih&s?lagier_dﬂdded to_q%)klije h(%gk at_tl}(a)enemyA

(1) (a)
(2 (b)
(3 (9
(4 (d)
Options:-

«1, Option ID :- 501,
« 2, Option ID :- 502,
« 3, Option ID :- 503,

« 4, Option ID :- 504,
Answer Given:- 4, Option ID : -504
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Question ID:- 127

Identify the part of the following sentence that has an error in it.

Cfm(l;i) lLask vour f(%\j’om to IEI'(léIl) me somr(z anﬁoney ?
(1) (a)
(2) (b)
(3) (9
(4) (d)

Options:-

«1, Option ID :- 505,
» 2, Option ID :- 506,
» 3, Option ID :- 507,

» 4, Option ID :- 508,
Answer Given:- 2, Option ID : -506

Question ID:- 128

Identify the tense form of the following sentence.
These days I am working very hard.

(1) Simple Present

(2) Present Perfect
(3)

(

4)  Present Perfect Continuous

Present Continuous

Options:-

«1, Option ID :- 509,
« 2, Option ID :- 510,
» 3, Option ID :- 511,

» 4, Option ID :- 512,
Answer Given:- 3, Option ID : -511

Question ID:- 129

Identify the tense form of the following sentence.

By next March we shall have been living here for two years.
(1) Simple Future

(2) Future Perfect

(3) Future Continuous

(

4)  Future Perfect Continuous.

Options:-

«1, Option ID :- 513,
» 2, Option ID :- 514,
« 3, Option ID :- 515,

» 4, Option ID :- 516,
Answer Given:- 4, Option ID : -516

Question ID:- 130
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Choose the option in which Voice in the following sentence has been changed correctly.

She has raised the matter with him.

(1) The matter has been raised with him by her.
(2) The matter was raised by her with him.
(3)

(

4)  With him the matter has been raised.

The matter had been raised by her with him.

Options:-

«1, Option ID :- 517,
« 2, Option ID :- 518,
« 3, Option ID :- 519,

« 4, Option ID :- 520,
Answer Given:- 1, Option ID : -517

Question ID:- 131

Choose the option in which Voice in the following sentence has been changed correctly.
Will you attend the party ?

(1) The party will be attended by you

(2)  Will the party be attended by you

(3) Will the party attended by you
(4)

4 Will the party be attended by you ?

Options:-

«1, Option ID :- 521,
» 2, Option ID :- 522,
« 3, Option ID :- 523,

« 4, Option ID :- 524,
Answer Given:- 4, Option ID : -524

Question ID:- 132

Choose the word similar in meaning to the one given below.

Reputation
(1) Admiration (2) Regard (3) Fame (4) Reproach

Options:-

»1, Option ID :- 525,
» 2, Option ID :- 526,
» 3, Option ID :- 527,

» 4, Option ID :- 528,
Answer Given:- 3, Option ID : -527

Question ID:- 133

Choose the word similar in meaning to the one given below.
Fanatical
(1) Extremist (2) Traditional (3) Admirer (4) Follower

Options:-
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=1, Option ID :- 529,
« 2, Option ID :- 530,
» 3, Option ID :- 531,

» 4, Option ID :- 532,
Answer Given:- 4, Option ID : -532

Question ID:- 134

Choose the word opposite in meaning to the one given below.
Shy
(1) Plentiful (2) Civilised (3) Needy (4) Impudent

Options:-

»1, Option ID :- 533,
» 2, Option ID :- 534,
« 3, Option ID :- 535,

» 4, Option ID :- 536,
Answer Given:- 4, Option ID : -536

Question ID:- 135

Choose the word opposite in meaning to the one given below.

Sober

(1) Excited
(2) Open

(3) Strong

(4) Notorious

Options:-

«1, Option ID :- 537,
» 2, Option ID :- 538,
« 3, Option ID :- 539,

« 4, Option ID :- 540,
Answer Given:- 1, Option ID : -537

Question ID:- 136

Choose the option in which the following word / phrase have been rearranged to form
correct sentence.

(A) a nuclear weapon-free
(B) are the prospects of
(C) environment

(D) what then

(1) (B), (A) (©, (D)
(2 (©), @), (D) (A)
(3) (D). (B), (A), (O)
(4)  (A) (©Q), (B), (D)
Options:-

«1, Option ID :- 541,
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=« 2, Option ID :- 542,
« 3, Option ID :- 543,

» 4, Option ID :- 544,
Answer Given:- 3, Option ID : -543

Question ID:- 137

Choose the option in which the following word / phrase have been rearranged to form
correct sentence.

(A) that

(B) itis in an optimistic

(C) we should judge things
(D) frame of mind

(1) (B), (D), (A), (C)
(2) (A), (©), (B), (D)
(3) (©). D). (A), (B)
(4) (D), (B). (A). (O
Options:-

»1, Option ID :- 545,
» 2, Option ID :- 546,
» 3, Option ID :- 547,

» 4, Option ID :- 548,
Answer Given:- 1, Option ID : -545

Question ID:- 138

Choose the option in which the NARRATION in the given sentence has been changed
correctly,

The teacher said, “Why have you not dene your homework ?”

(1) The teacher asked the student why he had not done her homework.

(2) The teacher asked the student why she had not done his homework.
(3) The teacher asked the student why he had not done his homework ?
(4)

4 The teacher asked the student why she had not done her homework.

Options:-

«1, Option ID :- 549,
« 2, Option ID :- 550,
» 3, Option ID :- 551,

» 4, Option ID :- 552,
Answer Given:- 3, Option ID : -551

Question ID:- 139

Fill in the blank in the following sentence with suitable preposition.

He gave that he cannot succeed.
(1) up

(2) in

(3) out

(4) off
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Options:-

«1, Option ID :- 553,
» 2, Option ID :- 554,
« 3, Option ID :- 555,

» 4, Option ID :- 556,
Answer Given:- 1, Option ID : -553

Question ID:- 140

Fill in the blank in the following sentence with suitable preposition.

This plan will go with the farmers.
(1) down

(2) up

(3) in

(4) into
Options:-

«1, Option ID :- 557,
» 2, Option ID :- 558,
« 3, Option ID :- 559,

« 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Subject : MATHS_Q141-Q160_PRT24FEBSH1

Question ID:- 141

Ten crore equal :
(1) One Million.

(2) Ten Million.
(3) Hundred Million.
(4) One Billion.
T Fg T ¥
(1) T fafea
(2) =5 fafems
(3) @ fuferm
(4) = faferm=
Options:-

«1, Option ID :- 561,
« 2, Option ID :- 562,
» 3, Option ID :- 563,

« 4, Option ID :- 564,
Answer Given:- 2, Option ID : -562

Question ID:- 142
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India became an independent nation in the year :
() MCMXLVI

(2) MMC XL VII

(3) CMM XL VI

(4) MCMII L

TRA a9 § wd U o
(1) MCM X LVII

(2) MMC X LVII

(3) CMM X LVII

(4 MCMIIL

Options:-

»1, Option ID :- 565,
» 2, Option ID :- 566,
« 3, Option ID :- 567,

» 4, Option ID :- 568,
Answer Given:- 3, Option ID : -567

Question ID:- 143

The difference between the greatest and smallest five digit numbers formed by digits 2, 3, 5, 9
and 0 is :

(1) 70173
(2) 74961
(3) 92961
(4) 75071

i 2,3,5,9 30 F o UrF iF] H1 FS | IS 9 S G D G H HARE ¢

(1) 70173
(2) 74961
(3) 92961
(4) 75071
Options:-

«1, Option ID :- 569,
» 2, Option ID :- 570,
« 3, Option ID :- 571,

» 4, Option ID :- 572,
Answer Given:- 2, Option ID : -570

Question ID:- 144
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The greatest five digit number which is completely divisible by 535 is :

(1) 99995
(2) 99510
(3) 99715
(4) 99500

qi= 3fehi 19S5l @ S He&A S 535 § qoiaan fafse 2t €, €

(1) 99995
(2) 99510
(3) 99715
(4) 99500
Options:-

«1, Option ID :- 573,
« 2, Option ID :- 574,
« 3, Option ID :- 575,

« 4, Option ID :- 576,
Answer Given:- 2, Option ID : -574

Question ID:- 145

If the sum of three consecutive numbers is 3000, then the numbers are :
(1) 900, 1000, 1100
(2) 998, 1000, 1002
(3) 995, 1000, 1005
(4) 999, 1000, 1001

Tfe 99 FUFE S@nsi 1 I 3000 §, @ 9 SEd €
(1) 900, 1000, 1100

(2) 998, 1000, 1002
(3) 995, 1000, 1005
(4) 999, 1000, 1001

Options:-

«1, Option ID :- 577,
»« 2, Option ID :- 578,
» 3, Option ID :- 579,

» 4, Option ID :- 580,
Answer Given:- 4, Option ID : -580

Question ID:- 146
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If a car covers 16.5 km with a litre of petrol, then the distance covered with 7.5 litres of petrol is :
(1) 1237.5 km

(2) 12.375 km
(3) 1125 km
(4) 123.75 km

gfe U HR TS foret T § 165 ki =ewdl &, ot 7.5 foex 9da @ g @ 2
(1) 12375 km

(2) 12.375 km
(3) 1125 km
(4) 123.75 km

Options:-

«1, Option ID :- 581,
» 2, Option ID :- 582,
« 3, Option ID :- 583,

» 4, Option ID :- 584,
Answer Given:- 4, Option ID : -584

Question ID:- 147

A cuboidal container is 40 cm wide, 60 cm long and 40 cm high. It is filled with water upto the
height of 20 cm. How much more water is to be poured so as to fill the container completely
(in litres) ?

(1) 96
(2) 56
(3) 48
(4) 40

Teh SFIMIHR 69 40 cm =1, 60 cm T 91 40 cm 91 § 198 20 cm 391 96 U1 § W3 g7 § | 598

fepet 3iR TRt (eftex ) s o, g for 2o qof S0 @ ot 4 Sl 2

(1) 96
(2) 56
(3) 48
(4) 40
Options:-

«1, Option ID :- 585,
»« 2, Option ID :- 586,
« 3, Option ID :- 587,

= 4, Option ID :- 588,
Answer Given:- 3, Option ID : -587

Question ID:- 148
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If the product of the HCF and LCM of the two numbers is 2816 and one number is 88, the other
number is ;

(1) 32
(2) 36
(3) 40
(4) 48

gfe &1 Hensdl & HCF a9 LCM 1 T[T 2816 § 71 Ush e 88 7, 1 g8dl §e &

(1) B2
(2) 36
(3) 40
(4) 48
Options:-

«1, Option ID :- 589,
» 2, Option ID :- 590,
» 3, Option ID :- 591,

» 4, Option ID :- 592,
Answer Given:- 1, Option ID : -589

Question ID:- 149

Three bells ring at an interval of 30 minutes, 40 minutes and 75 minutes. They rang simultaneously
at 10:00 am. They will ring simultaneously again at :

(1) 10 pm
(2) 8 pm
%) ©pm
(4) 4pm

< sifear e 30 foe, 40 fme @i 75 foe & siaue o 9! €, 98 TF Y 10:00 am T it o |
T YYET & Tk Wi TR Fsi:

(1) 10 pm

(2) 8 pm

(3) 6pm

(4) 4pm
Options:-

«1, Option ID :- 593,
» 2, Option ID :- 594,
« 3, Option ID :- 595,

= 4, Option ID :- 596,
Answer Given:- 4, Option ID : -596

Question ID:- 150
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3
What should be added to — to make it equal to its reciprocal ?

4
3
D 3
4
2 3
7
® 1
12
4 -

%ﬁwﬁ@m%ﬂgmwﬁwﬁaﬁ?

3
85—
4
2 3
7
3 13
12
4 -
Options:-

«1, Option ID :- 597,
« 2, Option ID :- 598,
« 3, Option ID :- 599,

» 4, Option ID :- 600,
Answer Given:- 3, Option ID : -599

Question ID:- 151

On a rainy day, 96% students were present in a school and 36 students were absent. The total
strength of the school is :

(1) 950
(2) 940
(3) 925
(4) 900
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sk gyl arel e, 96% farenedf foremera § 3ufter & qen 36 faeneli srqufiaa 4 faeme & e faenfo=i =
Hem g:
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(1) 950
(2) 940
(3) 925
(4) 900

Options:-

«1, Option ID :- 601,
» 2, Option ID :- 602,
» 3, Option ID :- 603,

» 4, Option ID :- 604,
Answer Given:- 4, Option ID : -604

Question ID:- 152

A fraction remains the same or equivalent if :

(1) The same number is added to numerator and denominator.

(2) The same number is subtracted from numerator and denominator.

(3) Multiply numerator and denominator by the same number other than zero.
(4) Multiply by its reciprocal.

Uk o o et @ a1 s Tl © AT

(1) T & Hem 39 au & ° §ig 9l |

(2) U HE SN A W H | ue & A |

(3) ¥ I BIE Y, Th & GE&A H 9 91 B 1 707 ok s |
(4) T Hohd | TN T S

2

Options:-

«1, Option ID :- 605,
» 2, Option ID :- 606,
» 3, Option ID :- 607,

» 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

Question ID:- 153

A car covers a distance of 315 km in 7 hours. If speed remains the same, the distance covered in
3 hours will be :

(1) 125 km
(2) 135 km
(3) 140 km
(4) 145 km
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T FR 79 H 315 km g0 79 Fdl & | 4 7fd 99F T, 91 3 = H gl 79 e
(1) 125 km

(2) 135 km

(3) 140 km

(4) 145 km
Options:-

»1, Option ID :- 609,
» 2, Option ID :- 610,
» 3, Option ID :- 611,

» 4, Option ID :- 612,
Answer Given:- 2, Option ID : -610

Question ID:- 154

A purse costs T 325 and is sold for ¥ 375. If the shopkeeper has earned ¥ 550 from the sale of
purses, the number of purses sold is :

(1) 8
2 9
(3) 10
4 11

Tk TH 1 @I §ed T 325 € a9 fased ged T 375 § 1 Afe gRMaR w1 UH( w1 99 | e @ T 550 g
2, 0 e g o -

(1) 8
2 9
(3) 10
(4 11
Options:-

«1, Option ID :- 613,
» 2, Option ID :- 614,
« 3, Option ID :- 615,

« 4, Option ID :- 616,
Answer Given:- 4, Option ID : -616

Question ID:- 155

Kapil bought 3 bottles of juice for ¥ 51. How much money will be required to purchase 13 bottles of
juice ?

(1) T 169
(2) 182
(3) T 19
(4 T 221

https://kvsexam24feb23s 1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-297 1-460b- 9691-98a128654623&Rollno=220425212230204&Pg Id. ..

72/89



Join Telegram Group  HaryanaJobs.in"

3/7/23, 4:30 AM Respons
e 7 @ I 3 daet 51 § @lE | 13 dad 99 Sied T R 99 29 2
(1) T 169
(2) T 182
(3) T19
(4) T 221
Options:-

«1, Option ID :- 617,
» 2, Option ID :- 618,
» 3, Option ID :- 619,

» 4, Option ID :- 620,
Answer Given:- 4, Option ID : -620

Question ID:- 156

Amit bought 20 bunches of 6 flowers each for ¥ 200. He sold each flower for ¥ 3 each. His gain or
loss is :

(1) T 100 profit

(2) 120 profit

(3) T 140 loss

(4) T 160 profit

FfHd 5 20 = el o 578 U T8 H 6 T &, T 200 H @i | 364 T 3 o Toieh et Sl | SHeRl &
mﬁlﬁ%:

(1) T 100 ©Y
(2) X120 ¥
(3) T 140 =T
(4) T 160 @Y
Options:-

«1, Option ID :- 621,
» 2, Option ID :- 622,
» 3, Option ID :- 623,

» 4, Option ID :- 624,
Answer Given:- 4, Option ID : -624

Question ID:- 157

In the month of January, there are four Sundays and the rest are working days. A student get
T 1 as pocket money per day on all working days. He is very fond of toffees. A toffee costs
T 1 each. The shop keeper agrees to give one free toffee for three wrappers . Find the number of
toffees he can purchase in January :

iy 27
(2) 36
(3) 39
(4) 40
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S % T H 4 Woar € a1 99+ foaw ® ) e famndt 1 2 1 99 @ vow w7 feaw w fqea g1
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(1) 27
(2) 36
(3) 39
(4) 40
Options:-

«1, Option ID :- 625,
» 2, Option ID :- 626,
» 3, Option ID :- 627,

» 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158

The floor of a room 6 m long and 4 m broad is to be paved with tiles each having a length of 20 em
and a breadth of 15 cm. The number of tiles required to cover the floor is :

(1) 300
(2) 400
(3) 600
(4) 800

T FHL 1 I ekl e 6 m, T 1SS 4 m §, %1 20 co EF&l G201 15 cm TSt 26T 9 Gl W1 §
Y T el IEe R

(1) 300
(2) 400
(3) 600
(4) 800
Options:-

«1, Option ID :- 629,
» 2, Option ID :- 630,
» 3, Option ID :- 631,

» 4, Option ID :- 632,
Answer Given:- 4, Option ID : -632

Question ID:- 159

The next two numbers in the sequence are :
1,1,2,8 5,8, 18, 21; 34,

(1) 35,36
(2) 55,56
(3) 55, 89
(4) 47, 60
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14,2, 85,8, 13,21, 34, i |
(I) 35,36

(2) 55,56

(3) 55,89

(4) 47, 60

Options:-

«1, Option ID :- 633,
« 2, Option ID :- 634,
« 3, Option ID :- 635,

» 4, Option ID :- 636,
Answer Given:- 3, Option ID : -635

Question ID:- 160

A restaurant remains open on each day as per timings given below :

Day Opening hours of the restaurant
Monday 10 am - 6 pm
Tuesday 9 am -4 pm
Wednesday 10 am -5 pm
Thursday 10 am- 6 pm
Friday 11 am -7 pm
Saturday 11 am - 10 pm
Sunday 11 am -5 pm
A cook is paid X 50 per hour. His weekly pay pocket is :
(1) X 550
(2) T 2100
(3) T 2500
(4) I 2750
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Tk HISHIGE o Todeh fad o Ger & 999 35 JHR ©
fa= UISHTTE G T T
OrOar 10 am - 6 pm
IR 9 am-4 pm
FHEAN 10 am- 5 pm
Eﬁmﬁr‘cﬂ{ 10 am - 6 pm
RIEEIRS 11 am -7 pm
9HaR 11am-10 pm
faamr 11 am -5 pm
WHT &A1 a1t Sferd ol 50 9id ser faerdr 2 | e o S9! fomaet Tfdn am &t 2
(1) % 550
(2) T 2100
(3) ¥ 2500
(4) T 2750
Options:-

»1, Option ID :- 637,
»« 2, Option ID :- 638,
« 3, Option ID :- 639,

» 4, Option ID :- 640,
Answer Given:- 4, Option ID : -640

Subject : EVS_Q161-Q180_PRT24FEBSH1

Question ID:- 161

Below are two statements. Choose the correct answer from given options.

Statement (I) : A material which gets decomposed through natural processes, as action by
bacteria, is called biodegradable.

Statement (II) : A material which is not easily decomposed by natural processes is termed
non-biodegradable.

(1) Statement (I) and Statement (II) both are true.
(2) Statement (I) and Statement (II) both are false.
(3) Statement (I) is true but Statement (II) is false.
(4) Statement (I) is false but Statement (II) is true.
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=i &1 A feu e 2 1| fou gu fasredi # 9 W&l 3w 1 999 |

WY (1) : et St Wik wfkan, S& Sfary) w6t R g stosfeq & s 8, Si9 Frefsia wEard g1
e (I1) : et S Ui gfsransdi g wwerar 9 faafed 7@ €, S sifrieia sgem €1
(1) oReF (I) R e (1) ST 9& ¥

(2) A (1) TR HYA (1) 2T TTewd 21

(3) e (1) TEI 8, Tg HYT (1) TTed

(4)  HYA (I) TEd &, T R (1) T |

Options:-

«1, Option ID :- 641,

» 2, Option ID :- 642,

« 3, Option ID :- 643,

« 4, Option ID :- 644,
Answer Given:- 1, Option ID : -641

Question ID:- 162

Given below are two statements. One of them is labelled as Assertion (A) and the other as
Reason (R). Choose the correct answer with the help of code given below :

Assertion (A) : The atmospheric nitrogen cannot be taken directly by plants and animals.

Reason (R) : Once nitrogen is converted into usable compounds, it can be utilised by plants
from the soil through their root system.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) (A) is false but (R) is true.

= 1 gerrer fow o ¥ | U 1 iR (A) SR G 1 SRR (R) el T 2 | feu e e i Heram

Y & IR =TI B

AfeReF (A) : U9 UF Wi argHeed AEZSH %1 3TN WY & T Gehd |

T (R) : W Ao A iRt | wftafdd € 9wt ¥, 98 gge syEn faedt § | 9g @9 g/
L 21

(1) (A) 3R (R) SFi =&l §, 3R (R), (A) &1 TE AR Ll 2|

(2)  (A) &R (R) 991 T& € T (R), (A) I TEt A T8 e B

(3) (A) WEl € 9T (R) e 2|

(4) (A) T B, 9 (R) WEI 2|

Options:-

«1, Option ID :- 645,

» 2, Option ID :- 646,

» 3, Option ID :- 647,

» 4, Option ID :- 648,
Answer Given:- 1, Option ID : -645

Question ID:- 163
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Think about the statements given below and choose the correct answer with the help of given
codes.

(A) The source of penicillin injection is mould.

(B) Antibiotics are mixed with the feed of livestock and poultry.

(C) Yeast reproduces rapidly and produce nitrogen during respriation.
(D) Louis Pasteur discovered fermentation in 1857.

Only (A) and (D)
(2) Only (A), (B) and (C)
(3) Only (A), (B) and (D)
(4) Only (B) and (C)

9 fou o A W foER i SR Fe F Ferd | HEl 39 H FH
(A) ffafer % doimem J E wEe 81

(B) Y] STRR WS FHake HeR H Wfdsifass foeran s 2

(C) e (@) dis ¥ S Tk YaA % SR TIEgier Scfed Fid € |
(D) 8 IR A Tohvad ol @iel 1857 H o |

< :

(1) e (A) 3R (D)
(2) &= (A), (B) ¥R (O)
(3) e (A), (B) ) #R (D)
(4) e (B) ¥R ()

Options:-

«1, Option ID :- 649,
« 2, Option ID :- 650,
» 3, Option ID :- 651,

» 4, Option ID :- 652,
Answer Given:- 1, Option ID : -649

Question ID:- 164

Given below are two statements. One of them is labelled as Assertion (A) and the other as
Reason (R). Choose the correct answer with the help of code given below :

Assertion (A) : Fish is a good food item for health.

Reason (R) : Fish contains Cod liver oil which is rich in Vitamin-D.

(1) (A) and (R) both are true and (R) is the correct explanation of (A)

(2) (A) and (R) both are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.
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= 1 aerrer fou 7o ¥ | U i iR (A) SR G 1 RRUT (R) el T 2 | S feu e e s Herm
q HEl I T B

afiered (A) : TP WA & fAU 71 SRR B

SHIT (R) : HIell 9 e eat ua o § faad faerfa-D sifus wmn | gren s 2
(1) (A) 3R (R) SF1 9@t €, 3R (R), (A) ! T&l 0 & ¢ |

(2) (A) ¥R (R) 31 5t &, T (R), (A) Fi TEI =020 T8 Ll ¢

(3) (A) H& B T (R) T S

(4) (A) 7T €, UG (R) HEr 2

Options:-

«1, Option ID :- 653,

» 2, Option ID :- 654,

« 3, Option ID :- 655,

» 4, Option ID :- 656,
Answer Given:- 1, Option ID : -653

Question ID:- 165

Choose the correct answer with the help of code :

It is important to turn the soil and Ioosen it in farming because :

(A) Itallows roots to penetrate deep in the soil.

(B) It allows the roots to breathe easily even when they go deep into the soil.
(C) Itleads to sinking of nutrients deeply.

Code :

(1) Only (A) and (©)

(2) Onlv (B) and (C)

(3) Only (B)

(4) Only (A) and (B)

e i Heddl § Hel Sl =T L

2t =1 wete qen 39 e ST i @ eTeid Heeay & § =i
(A) 398 5 g F TewE % o Gehdl B

(B) el frdt § ewE # ot WS off TRewn ¥ varHd & wahd g
(C) ZHY Yrvek e = =l §d € |

Q‘d‘:

(1) e (A) i (C)
(2) <R (B) ¥R (C)
(3) e (B)

(4) e (A) 3R (B)
Options:-

»1, Option ID :- 657,
« 2, Option ID :- 658,

»« 3, Option ID :- 659,
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= 4, Option ID :- 660,
Answer Given:- 1, Option ID : -657

Question ID:- 166

Given below are two statements. One of them is labelled as Assertion(A) and the other as

Reason (R). Choose the correct answer with the help of code given below :
Asertion(A) :  Blood flow in arteries is rapid and at high pressure.
Reason(R) : Arteries have thick elastic walls.

(1) (A) and (R) both are true and (R) is the correct explanation of (A)

(2) (A) and (R) both are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false.

(4) (A)is false but (R) is true.

9 & gerer fou 7o ¥ | U 1 ifireRed (A) SR G FI RO (R) el T E | S feu e e s Her

H HEl I =TI B
AR (A) :  gaE § R 1 YR IS § F sifus g@ W e §
T (R) : ety oy farfeaal Het i geare 2t €1

(1) (A) ¥R (R) T W& &, 3R (R), (A) HT §E& 0@ 6Tl 2 |
(2) (A) 3R (R) 31 W&t €, T (R), (A) Fi HEt =@ T8 w2
(3) (A) W& 2, T (R) T B

(4) (A) 7T 8, 9 (R) HET € |

Options:-

«1, Option ID :- 661,
» 2, Option ID :- 662,
« 3, Option ID :- 663,

» 4, Option ID :- 664,
Answer Given:- 1, Option ID : -661

Question ID:- 167

Match the following :

Classification of soil Nature of particles

(i) Sandy (A) Greater proportion of fine particles.

(i) Clayey (B) Almost equal proportion of large and fine particles.
(iii) Loamy (C) Greater proportion of big particles.

(D) (@)-(A), (i)-(B), (ii)-(C)

(2 @-©) (@@)-(B), (ii)-(A)

(3 (@-(C), (iD)~(A), (iii)-(B)

(4 @-(A), ()-(C), (iii)-(B)
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foer =i

T T STeRTOT HUT @l Tahta

() = (A)  @ifres =N H B2

(i) grEF (B) &S IR BT FHUN I T SER T
(iil) gHel (C) eiferes wEn § 5 &W

(D) @-(A), (iD)-(B), (ii)-(C)

(2)  ([B-C) (iD)-(B), (iii)-(A)

(3)  ([©-(O), (D)-(A), (iii)-(B)

(4)  (@)-(A), (D)~(C), (iii)-(B)
Options:-

«1, Option ID :- 665,
» 2, Option ID :- 666,
» 3, Option ID :- 667,

» 4, Option ID :- 668,
Answer Given:- 3, Option ID : -667

Question ID:- 168

Which option best describes a tropical region ?
(1) Hot and humid

(2) Moderate temperature & heavy rainfall.
(3) Cold and humid
(4) Hotand dry.

=1 # § #19 1 foren swmsfedsd &= &1 ados aue & § 2
(1) T iR o

(2) HEIH AUEE AR s gui

(3) T AR =T

(4 T e YH

2

Options:-

«1, Option ID :- 669,
» 2, Option ID :- 670,
» 3, Option ID :- 671,

» 4, Option ID :- 672,
Answer Given:- 2, Option ID : -670

Question ID:- 169
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Match the following :

Body part Digestion of substance
(i) Mouth (A) Proteins
(1) Stomach (B) Starch
(iii) Gall Bladder (€) Fats
(D O-(©), [@)-(B), (ii)-(A)
(2 O-(A), (D-(B), (@)-(C)
(3 D-(B), ()-(A), (iii)-(C)
(4 @)-©), [{@)-(A), (iii)}-(B)
forem &
IR T 3T wered T e
) *E (A)
() SHEA (B) Hs
(ii) Toreame™ (C) ==
(D) @), GD)-(B), (ii)-(A)
(2 ([@)-(A), ()-(B), (ii)-(C)
(3)  (®-(B), (iD)-(A), (iii)-(C)
(4 ®-(©), (D)-(A), (iii)-(B)
Options:-

«1, Option ID :- 673,
» 2, Option ID :- 674,
» 3, Option ID :- 675,

» 4, Option ID :- 676,
Answer Given:- 3, Option ID : -675

Question ID:- 170

Photosynthesis takes place in :
(A) Green leaves.

(B) Green stems.

(C) Green branches.
(D) Green roots.
(
(
(
(

) Only (A)
) (A) and (B)
3)  (A) and (D)
) (A) (B) and (C)
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(A) =0 il §
(B) ®WaH
(C) &0 v |
(D) e H
() e (A)
(2) % (A) SR (B)
(3) A (A) #R (D)

4 (A), (B) & (©)

Options:-

«1, Option ID :- 677,
» 2, Option ID :- 678,
« 3, Option ID :- 679,

» 4, Option ID :- 680,
Answer Given:- 4, Option ID : -680

Question ID:- 171

Following are the statements related to the houses constructed in the cold desert areas of Leh.
Choose the correct answer with the help of given codes.

(A) They are made up of stones.

(B) The ground floor is usually used for keeping animals.

(C) Windows are constructed in the ground floor for ventillation.

Codes :

(1) (A) and (B)
(2) (B)and (O)
(3 (A)and (Q)
(4) Only (A)

freafafad Fum 28 meega 99 o # =3 % fmi & gafua 71 fou gu %52 =1 gema 9 98 3ar &1 929

(A) I8 Yeerl | S 51 € |
(B) 37 WU 1 Y-l AR STHEU ol TEH o HTH A & |
(C) Y- W arg-Herer & fau fasfel = fmfo fmn sm 2

< :

(1) (A) R (B)
2 (B R Q)
(3) (A) ¥R Q)
(4) HEE (A)
Options:-

«1, Option ID :- 681,
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=« 2, Option ID :- 682,
« 3, Option ID :- 683,

» 4, Option ID :- 684,
Answer Given:- 1, Option ID : -681

Question ID:- 172

* Tarun Bharat Sangh’ is an organization of Rajasthan, which works for

(1) Land management.

(2) Water management.

(3) Excreta management.

(4) Economic management for poor people.

"qE Y HE' TS h UE SR S & HH A 2
(1) o weeE

(2) el YeiEd

(3) HA-H T AU

(4) = AT % forn st yEEA

Options:-

»1, Option ID :- 685,
» 2, Option ID :- 686,
« 3, Option ID :- 687,

« 4, Option ID :- 688,
Answer Given:- 2, Option ID : -686

Question ID:- 173

Abu Dhabi has only sandy soil. Oil is found below the sandy soil. Petrol is cheaper than water
here. Only one kind of tree is found here in the name of trees. Can you tell which plant is found
there ?

(1) Betel

(2) Dates

(3) Jackfruit
(4) Oak

19 yrelt § fidks efiett sie 2, Wil St o e Oa T S ® ) Fe g uet | 950§ 1 Ig-diei % am
3 W Wk & U T S | 3R SATY Sd1 G © T dgl ShiA-|1 TS 9TET STl § 2

(1) ol

(2) @

(3) “heEd

(4) i
Options:-

«1, Option ID :- 689,
»« 2, Option ID :- 690,
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=« 3, Option ID :- 691,

« 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174

You are a farmer of Belvanika village of Karnataka. Which of the following will you use to sprinkle
the seeds of onion in the field ?

(1) Kurige
(2) Khunti
(3) Iige
(4) Sickle

(2
(3) sfert
(4) e

Options:-

«1, Option ID :- 693,
» 2, Option ID :- 694,
« 3, Option ID :- 695,

» 4, Option ID :- 696,
Answer Given:- 3, Option ID : -695

Question ID:- 175

Below are two statements. One of them is labelled as Assertion (A) and the other as Reason (R).
Choose the correct answer from given options.

Assertion (A) : This year Ramu did not let a single bird enter into his garden. But this year the
insects have eaten the mangoes.

Reason (R) : If there had been birds then they would have eaten the insects, we would not
have lost so many mangoes.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.
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9 < e feu e # ) w5 erfuene (A) SR g 1 wmROT (R) el TR | A R T e i e
Y & S T L

MUK (A) :  TH IR UH A A9 = H Ueh off gadl 7€l &1 fear o 39 o)« el (378) ol i ofl
|

HIT (R) : T&ft B o RIS i W1 o SR 59 el (3TH) TUE e w |

1) (A) 3R (R) SHI ¥&T &, 3R (R), (A) Tl HE =@ &l €|

2) (A) ¥R (R) S W, WA (R), (A) 1 &t =reA e e 2 |

3)  (A) ¥El§ 9 (R) T B |

4)  (A) T B, 9 (R) WET B

3/7/23, 4:30 AM

S—

(
(
(
(

Options:-

«1, Option ID :- 697,
»« 2, Option ID :- 698,
» 3, Option ID :- 699,

« 4, Option ID :- 700,
Answer Given:- 1, Option ID : -697

Question ID:- 176

Read the following sentences and identify who am I from the options given below :
On my head I have a crest,

All say 1 dance the best,

Of my feathers [ am proud,

Before the rain I cry aloud.

(1) Wood pecker.

(2) Nightingale.
(3) Cock.
(4) Peacock.

AT %1 Teet A feu T fawedt # & wgenf fE f & g 2
for w W et § it e € fop B wed et A famm £
S G Tl o AT ¥ g | Wi & vger # wiR & e g1

(1) FHSHiga
(2) I
(3 T
(4) ¥R
Options:-

«1, Option ID :- 701,
« 2, Option ID :- 702,
« 3, Option ID :- 703,

» 4, Option ID :- 704,
Answer Given:- 4, Option ID : -704

Question ID:- 177
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Which among the following is different from the others ?

(1) Bathing

(2) Washing clothes
(3) Swimming

(4) Combing hair

frafafes § A FR-Tr e 9 = &2

(1) &

(2) IS YT
(3) dwn

(4) S
Options:-

«1, Option ID :- 705,
»« 2, Option ID :- 706,
« 3, Option ID :- 707,

« 4, Option ID :- 708,
Answer Given:- 4, Option ID : -708

Question ID:- 178

Which of the following statements are correct about the forests ?

(A) Forests protect the soil from erosion.

(B) Plants and animals in a forest are not dependent on one another.
(C) TForests influence the climate and water cycle.

(D) Soil helps forests to grow and regenerate.

(D (A), (B), (O
(2 (B) (©), (D)
(3) (&), (©) D)
(4) (A), (B)

e § § SR-8 wy Sel & ded § g8 E 2
(A) ST el ! AR § =

(B) Tl H UIEY SR S Teh-gE W Feft 7€ 2d €
(C) & Sierary SR Seresh i Jofad o3 2 |
(C) T, & ot gfig i YAsha | W gl 7
(L) (A) (B), (O
(2 (B) (©). (D)
3 (A) ©) (D)
(4 (A) (B)
Options:-
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«1, Option ID :- 709,
« 2, Option ID :- 710,
« 3, Option ID :- 711,

» 4, Option ID :- 712,
Answer Given:- 3, Option ID : -711

Question ID:- 179

Below are two statements. Choose the correct answer from given options.

Statement (I) : Arjuna award is given to players who achieve special achievement in games.
Statement (II) : This award is awarded by the Central government and State government together.
(1) Statement (I) and Statement (II) both are true.

(2) Statement (I) and Statement (II) both are false.

(3) Statement (I) is true but Statement (II) is false.

(4) Statement (I) is false but Statement (II) is true.

A &1 e fau g 2| feu g famedi # & @@ 3o 1 =97 HL |

wmAT (1) @ oFs wenr fafvm el d fosiw syafes yra 37 ot faenfedi 1 wem o s 21
HAT (II) : IR YRR T WER 3R Fg R e weH i €
(1) A (1) 2R (1) g1 98 €

(2) A (1) &R (1) < T ©

(3) R (1) TE €, Tg e (1) T

(4)  HUA (1) T B, TG T/ (1) T # |

Options:-

«1, Option ID :- 713,

» 2, Option ID :- 714,

» 3, Option ID :- 715,

» 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180

Below are two statements. Choose the correct answer from given options.

Statement (I) : 71% of the Earth’s surface is covered with water.

Statement (II) : Most of the water present on the Earth is not fit for human consumption at all.
(1) Statement (I) and (II) both are true.

(2) Statement (I) and (II) both are false.

(3) Statement (I) is true but statement (II) is false.

(4) Statement (I) is false but statement (II) is true.
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== & A feu e 21| fou gu fasmedi § ¥ W&l 3 #1997 |

WYT () : oAl B HAE I T 71% A 5A H TH L

wmed (1) : 9o I 3Ueud SRR Sid "HE S9An & fau faega off suge 7@l g
(1) <R (1) IR (1) SHT 8

(2) WA (1) 2R (1) S e g

(3) AT (1) WE €, W HAT (I1) T B

(4)  HUA () TEd B, T HYA (1) T 2

Options:-

«1, Option ID :- 717,
« 2, Option ID :- 718,
« 3, Option ID :- 719,

« 4, Option ID :- 720,
Answer Given:- 1, Option ID : -717
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